UGC NET 2021 Geography SH1

Topic:- Geog_SH1_Set1_A

1)

Which one of the following methods is used by researchers for reducing biasness of scale’
while compositing several indicators?

(1) working out percentages and adding them together

(2) adding actual values of all indicators

(3) segregating positive and negative indicators

(4 dividing the values of indicators with their mean values
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[Question ID = 301][Question Description = Q1_Geog_SH1_Set1_A]
1. 1 [Option ID = 1201]
2. 2 [Option ID = 1202]

3. 3 [Option ID = 1203]
4. 4 [Option ID = 1204]

2)
Which one of the following 1s not a process of cultural change?
(D) Acculturation (2) Diffusion
(3) Innovation (4) Segregation
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[Question ID = 302][Question Description = Q2_Geog_SH1_Set1_A]
1. 1 [Option ID = 1205]
2. 2 [Option ID = 1206]
3. 3 [Option ID = 1207]
4. 4 [Option ID = 1208]

3)
Which one of the following depicts correct demographic equation of population growth?
(1) Natural increase and dependency ratios
(2) Natural increase and net migration

3 In-migration and birth rate
(4) Out-migration and death rate
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[Question ID = 303][Question Description = Q3_Geog_SH1_Set1_A]



1 [Option ID = 1209]
2 [Option ID = 1210]
3 [Option ID = 1211]
4 [Option ID = 1212]
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4)
In which one of the following water bodies the salinity 1s lowest?

(1) (Great salt lake (2) Dead sea
(3) Lake Van (4) Gulf of Earabugas
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[Question ID = 304][Question Description = Q4_Geog_SH1_Set1_A]
1. 1 [Option ID = 1213]
2. 2 [Option ID = 1214]
3. 3 [Option ID = 1215]
4. 4 [Option ID = 1216]

5
) The phenomena of wind gap is associated with :
(1) Glacio-fluvial eroison (2) Lateral erosion by river
(3) Head ward erosion by river (4) Glacial planation

yeq feer (M) ufraen fead gefia 2

(1  fegwefa s (2) =é g i swes
(3) =& g fief sraeH (4) Teuadig gudaem

[Question ID = 305][Question Description = Q5_Geog_SH1_Set1_A]
1. 1 [Option ID = 1217]
2. 2 [Option ID = 1218]
3. 3 [Option ID = 1219]
4. 4 [Option ID = 1220]

6)
A researcher wants to study the relationship of family size to income. He/She classifies
population into different income slabs and then takes a random sample from selected slabs.
Which one of the following techniques is he/she working with?

(1) Cluster sampling (2) Random sampling
(3) Stratified random sampling (4) Systematic sampling
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[Question ID = 306][Question Description = Q6_Geog_SH1_Set1_A]
1. 1 [Option ID = 1221]
2. 2 [Option ID = 1222]
3. 3 [Option ID = 1223]
4. 4 [Option ID = 1224]

7 . . . . .
) Who among the following formalized the concept that there exists relationship between the
spatial organization and National development?



(1) Friedmann (2) Dickens
(3) Kuklinski (4 Luten
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[Question ID = 307][Question Description = Q7_Geog_SH1_Set1_A]
1. 1 [Option ID = 1225]
2. 2 [Option ID = 1226]
3. 3 [Option ID = 1227]
4. 4 [Option ID = 1228]

? Which one of the following indicates a population pyramid with wide base narrowing as the
age Cohorts progress?
(1) High fertility rates and low mortality rates
(2) Low fertility and low mortality rates
(3) High fertility and high mortality rates
(4) High fertility and high age specific fertility rates
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[Question ID = 308][Question Description = Q8_Geog_SH1_Set1_A]
1. 1 [Option ID = 1229]
2. 2 [Option ID = 1230]
3. 3 [Option ID = 1231]
4. 4 [Option ID = 1232]

9)
Which one of the following term is used for the distance between trough to crest of a wave?
(1) Wave trough (2) Wave velocity
(3) Wave height (4) Wave period
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[Question ID = 309][Question Description = Q9_Geog_SH1_Set1_A]
1. 1 [Option ID = 1233]
2. 2 [Option ID = 1234]
3. 3 [Option ID = 1235]
4. 4 [Option ID = 1236]

10) The San Andrean Fault is an example of
(1) Transform fault (2) Converging fault
(3) Spreading fault (4) Subduction fault
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[Question ID = 310][Question Description = Q10_Geog_SH1_Set1_A]
1. 1 [Option ID = 1237]
2. 2 [Option ID = 1238]
3. 3 [Option ID = 1239]
4. 4 [Option ID = 1240]

11)
Which one of the following group of states/U.T. in India recorded low sex ratio as per census

2011 data?

(1) Tamil Nadu, Uttarakhand, Himachal Pradesh. Haryvana
() Jharkhand, Rajasthan, Odisha, West Bengal

(3) Manipur, Harvana. Goa., Uttar Pradesh

(4) Sikkim, Harvana, Jammu and Kashmir, Gujarat
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[Question ID = 311][Question Description = Q11_Geog_SH1_Set1_A]
1. 1 [Option ID = 1241]
2. 2 [Option ID = 1242]
3. 3 [Option ID = 1243]
4. 4 [Option ID = 1244]

12 &R
) Stop and Go determiniam was propounded by
(1) F. Ratzel (2) G. Taylor
(3) AV. Humboldt (4) J. Brunhes
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[Question ID = 312][Question Description = Q12_Geog_SH1_Set1_A]
1. 1 [Option ID = 1245]
2. 2 [Option ID = 1246]
3. 3 [Option ID = 1247]
4. 4 [Option ID = 1248]

13)
The present day spatial distribution of Buddhism is highly concentrated among which of the

following group of regions?

(1) China. Tibet. Korea. Siberia

(2) South East Asia. Tibet, Mongolia, Japan
(3) Northern India. China, South East Asia
(4) Tibet, India, Middle East. Japan
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[Question ID = 313][Question Description = Q13_Geog_SH1_Set1_A]
1. 1 [Option ID = 1249]
2. 2 [Option ID = 1250]
3. 3 [Option ID = 1251]
4. 4 [Option ID = 1252]

14)
Which one of the following statements was not considered by Malthus while stating

Malthusian theory of population growth?
(1 Food supply will increase in arithmetic proportion while population will increase 1n
zgeometric proportion

(2) With increasing population food scarcity will increase. resulting in high death rate of
population

(3) Development of technology leading to increasing food production

(4) People will suffer from malnutrition resulting in high death rate
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[Question ID = 314][Question Description = Q14_Geog_SH1_Set1_A]

1. 1 [Option ID = 1253]

2. 2 [Option ID = 1254]

3. 3 [Option ID = 1255]
4. 4 [Option ID = 1256]

15)  The per minute solar radiation received on one centimeter square at the outer surface of a
plane is
(1) Convection (2) Solar constant
(3) Absorption (4) Reflection
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[Question ID = 315][Question Description = Q15_Geog_SH1_Set1_A]
1. 1 [Option ID = 1257]
2. 2 [Option ID = 1258]
3. 3 [Option ID = 1259]
4. 4 [Option ID = 1260]

16)
Yardangs are the creation of erosion by

(1) Fluvial (2) Aeolian
(3) Karst (4 Glacial
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[Question ID = 316][Question Description = Q16_Geog_SH1_Set1_A]
1. 1 [Option ID = 1261]
2. 2 [Option ID = 1262]
3. 3 [Option ID = 1263]
4. 4 [Option ID = 1264]

17)
Which one of the following group of State/UT recorded very high population growth rate

during 2001-2011 as per data given by census of India?

(1) Andhra Pradesh, Meghalaya, Himachal Pradesh Tripura
() Mizoram. Sikkim. Goa, Bihar

(3) Bihar, Jammu and Kashmir, Goa, Dellu

(4) Bihar. Jammu and Kashmir, Meghalaya. Mizoram
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[Question ID = 317][Question Description = Q17_Geog_SH1_Set1_A]
1. 1 [Option ID = 1265]
2. 2 [Option ID = 1266]
3. 3 [Option ID = 1267]
4. 4 [Option ID = 1268]

18)
Who among the following scholars coined the term permafrost?
(1) Ritter (2) Humboldt
(3) Agaziz (4) Ramsay
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[Question ID = 318][Question Description = Q18_Geog_SH1_Set1_A]
1. 1 [Option ID = 1269]
2. 2 [Option ID = 1270]

3. 3 [Option ID = 1271]
4. 4 [Option ID = 1272]

19 : S
) Which of the following 18 a renewable resource?

(1) Metal ores (2) Natural gas

(3) Fuel Cells (4) Fishes
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[Question ID = 319][Question Description = Q19_Geog_SH1_Set1_A]
1. 1 [Option ID = 1273]
2. 2 [Option ID = 1274]
3. 3 [Option ID = 1275]
4. 4 [Option ID = 1276]

20) . . .
Lateral planation theory of pediment formation was propounded by

(1 W.M. Davis (2) Von Richthofen

(3) G.XK. Gilbert (4) C.Darwin
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[Question ID = 320][Question Description = Q20_Geog_SH1_Set1_A]
1. 1 [Option ID = 1277]
2. 2 [Option ID = 1278]
3. 3 [Option ID = 1279]
4. 4 [Option ID = 1280]

21)
‘Rally for valley’ program in India was organized to highlight the problem of —

(1) Environmental degradation (2) Biodiversity

(3) Resettlement of displaced persons (4) Loss of agricultural land
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[Question ID = 321][Question Description = Q21_Geog_SH1_Set1_A]
1. 1 [Option ID = 1281]
2. 2 [Option ID = 1282]

3. 3 [Option ID = 1283]
4. 4 [Option ID = 1284]

22)
Who among the following developed the concept of “Mental Map™?

(1) P.Gould. R. White and Lynch (2) Humboldt. Ritter and Paschel
(3) Semple and Huntington (4) Boulding and Hagerstrand

fyeferfiaa 4 4 foea Tues @9 6 awon 1 fasfaa fean e
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[Question ID = 322][Question Description = Q22_Geog_SH1_Set1_A]
1. 1 [Option ID = 1285]
2. 2 [Option ID = 1286]
3. 3 [Option ID = 1287]
4. 4 [Option ID = 1288]

23)
Using the ‘locational triangle’, the concept of the ‘least transport cost location’ was
introduced by
(1) Walter Isard (2) M.E. Bandman
(3) D.M. Smith (4) Alfred Weber

-
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[Question ID = 323][Question Description = Q23_Geog_SH1_Set1_A]
1. 1 [Option ID = 1289]
2. 2 [Option ID = 1290]

3. 3 [Option ID = 1291]
4. 4 [Option ID = 1292]

24)
Which one of the following industries generates highest amount of waste water in the Ganga

mUP?

(1) Chemical

(2) Pulp and Paper
(3) Sugar

(4) distillery
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[Question ID = 324][Question Description = Q24_Geog_SH1_Set1_A]
1. 1 [Option ID = 1293]
2. 2 [Option ID = 1294]

3. 3 [Option ID = 1295]
4. 4 [Option ID = 1296]

25)
Which one of the following refers to the mature stage of a thunderstorm?

(1) Electric tension between oppositely charged areas
(2) Sudden onset of rain
(3) Absolute instability

(4) Slackness of energy
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[Question ID = 325][Question Description = Q25_Geog_SH1_Set1_A]
1. 1 [Option ID = 1297]
2. 2 [Option ID = 1298]
3. 3 [Option ID = 1299]
4. 4 [Option ID = 1300]

26)
Which one of the following frequency distribution is negatively skewed?

(1) A 2 B

(3) C 4 D

Mean
faferfiga O =9 Hi U IRENAT 924 THNHF FY 0 UHaUE 2 7
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[Question ID = 326][Question Description = Q26_Geog_SH1_Set1_A]
1. 1 [Option ID = 1301]
2. 2 [Option ID = 1302]
3. 3 [Option ID = 1303]
4. 4 [Option ID = 1304]

27)
Geo- Strategic model in political geography was propounded by:

(1) Spyvtman (2) Saul Cohen



(3) John Short (4) John Agnew
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[Question ID = 327][Question Description = Q27_Geog_SH1_Set1_A]
1. 1 [Option ID = 1305]
2. 2 [Option ID = 1306]
3. 3 [Option ID = 1307]
4. 4 [Option ID = 1308]

28)
Which one of the following is incorrect about agro-industrialization —

(1) Needs large agricultural farms
(2) Low labour input per unit of production
(3) Highly qualified managers

(4) Less use of chemical fertilizers and pesticides

- sirfrehie & o/ § Fefafed 4 8§ $R-9 1 27
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[Question ID = 328][Question Description = Q28_Geog_SH1_Set1_A]
1. 1 [Option ID = 1309]
2. 2 [Option ID = 1310]
3. 3 [Option ID = 1311]
4. 4 [Option ID = 1312]

29)

What iz the total duration of time required to complete the two cycles of high and low tides
at any place?

(1) 24 hours (2) 12 hours
(3) Less than 12 hours (4) More than 24 hours

fopelt zorm ov 3= 3 e s & @ =k 6l i e & foe g Teadl ety 1 sravasa Ed 20
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(3) 129 Yy (4) 24 =92 1 wfaw

[Question ID = 329][Question Description = Q29_Geog_SH1_Set1_A]
1. 1 [Option ID = 1313]
2. 2 [Option ID = 1314]



3. 3 [Option ID = 1315]
4. 4 [Option ID = 1316]

30)
The first meteorological satellite was
(1) TRMM (2) TIROS-I
(3) MODIS (4) NOAA

Hray fasmm—aad gum 39us o -
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[Question ID = 330][Question Description = Q30_Geog_SH1_Set1_A]
1. 1 [Option ID = 1317]
2. 2 [Option ID = 1318]
3. 3 [Option ID = 1319]
4. 4 [Option ID = 1320]

31)

In any thematic map. which of the following methods are used to record presence of
phenomenon; its spatial pattern, distrbution and dispersion

(1) Isopleth Mapping (2) Isoline Mapping

(3) Choropleth Mapping (4) Dot method mapping

ol ofi fawarsh Ten |, ffafiaa @ 4 fFA wafadi &1 3799 geaad i gre, sl w2 giae,
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[Question ID = 331][Question Description = Q31_Geog_SH1_Set1_A]
1. 1 [Option ID = 1321]
2. 2 [Option ID = 1322]
3. 3 [Option ID = 1323]
4. 4 [Option ID = 1324]

32)
The most important factor responsible for localization of high-tech firms in silicon valley of
California is
(1) Cheap Labour {2) Access to the market
(3) Agglomeration Economy (4) High speed transportation

Ffcrwita & faferdm defi § T=-grnfh FerE & wEE & fou I@ed vaiiys g s
B
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[Question ID = 332][Question Description = Q32_Geog_SH1_Set1_A]
1. 1 [Option ID = 1325]
2. 2 [Option ID = 1326]
3. 3 [Option ID = 1327]
4. 4 [Option ID = 1328]
33)

In four stages of demographic transition theory. the stage in which birth rate continues to be
high but death rate declines rapidly, 1s :



(1) Stage 4 (2) Stagel
(3) Stage 2 (4) Stage 3

R =il I it dea fagia O, gz 9w ol s @ emdan sifus @ 2 efe ey @ b
it frprae sl 2 98 2 -

(1) =0 - 4 (2) =10 - 1
(3) = - 2 (49) =7 -3

[Question ID = 333][Question Description = Q33_Geog_SH1_Set1_A]
1. 1 [Option ID = 1329]
2. 2 [Option ID = 1330]
3. 3 [Option ID = 1331]
4. 4 [Option ID = 1332]

34) Belize barrier reef is located between :

I[ljl Mexico and Cuba (2) Jamaica and Honduras
I[3)1 Mezxico and Guatemala ‘ (4) Mexico and Bahamas
Sl yaTe T b g e 2
(1)  wfeds 30 w0 (2 w1 3 EgnE
(3)  ufagshi 3 e (4) ufegel 30T gm

[Question ID = 334][Question Description = Q34_Geog_SH1_Set1_A]
1. 1 [Option ID = 1333]
2. 2 [Option ID = 1334]
3. 3 [Option ID = 1335]
4. 4 [Option ID = 1336]

35)
Singularities pertaining to recurrence of anticyclonic weather are associated with which area
of the globe?
(1) South Asia (2) North America
(3) Britain (4) Australia

yfeeghard] e <l gRER 8 Hefad faaeman fava & fea e | dey wadl 27
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[Question ID = 335][Question Description = Q35_Geog_SH1_Set1_A]
1. 1 [Option ID = 1337]
2. 2 [Option ID = 1338]
3. 3 [Option ID = 1339]
4. 4 [Option ID = 1340]

36)

Which one of the following rivers is not a tributory of Yamuna river?

(D) Giarl river (2) Tons river

(3) Bata river (4) Tangri river

feferfiga d | & | 981 9ga1 &) FzrEs 2 a7 27
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[Question ID = 336][Question Description = Q36_Geog_SH1_Set1_A]
1. 1 [Option ID = 1341]
2. 2 [Option ID = 1342]
3. 3 [Option ID = 1343]
4. 4 [Option ID = 1344]

37)
Geography 1n 17 volumes was authored by :
(1) Ptolemy (2) Ritter
(3) Strabo (4) Aristotle

el @l 17 w@vei 4 foraes g foran man?

(1) Frendt 2 fe
3) =l (4) 3

[Question ID = 337][Question Description = Q37_Geog_SH1_Set1_A]
1. 1 [Option ID = 1345]
2. 2 [Option ID = 1346]
3. 3 [Option ID = 1347]
4. 4 [Option ID = 1348]
38)
Who among the following scholars examined the regional and geographical implications of
growth pole theory earlier propounded by perroux?
(1) Gunnar Myrdal (2) John Friedmann
(3) A. O. Hirschman (4) J.Boudellie
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[Question ID = 338][Question Description = Q38_Geog_SH1_Set1_A]
1. 1 [Option ID = 1349]
2. 2 [Option ID = 1350]

3. 3 [Option ID = 1351]
4. 4 [Option ID = 1352]

39)
Who among the following conceived the idea of shipping canal between India and Srilanka?

(1) F. Luna Leopold (2) L. Farrell
(3) A. D. Taylor (4) C.dJ. Barrow
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[Question ID = 339][Question Description = Q39_Geog_SH1_Set1_A]
1. 1 [Option ID = 1353]
2. 2 [Option ID = 1354]
3. 3 [Option ID = 1355]



4. 4 [Option ID = 1356]

40)
Which of the following local winds are not related with drainage winds?
(1) Bora (2) Mistral
(3) Santa Ana (4) Rossby

frfofiga 4 3 ®R-8 vy vaq srE yaq 8 et 98 27
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[Question ID = 340][Question Description = Q40_Geog_SH1_Set1_A]
1. 1 [Option ID = 1357]
2. 2 [Option ID = 1358]
3. 3 [Option ID = 1359]
4. 4 [Option ID = 1360]

) Advocates of Humanistic geography among the following are :
(&) Harris
(B) Blache
(C) Guelke
(D) Ratzel

(E) Ley and Samuels

Choose the correct answer from the options given below :
(1) (B). (C) and (D) only

(2)  (A). (B)and (C) only

(3) (A, (C)and (E) only

(4) (C) and (D) only
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(2)  Fge (A), (B) 31 ()
(3)  %ad (A). (C) 31 (E)
(4) g (C) 311 (D)
[Question ID = 341][Question Description = Q41_Geog_SH1_Set1_A]

1. 1 [Option ID = 1361]
2. 2 [Option ID = 1362]



3. 3 [Option ID = 1363]
4. 4 [Option ID = 1364]

42)
Identify the processes of vorticity :
(A) Acceleration
(B) Frictional influence
(C) Roughness
(D) Rotation
(E) Angular velocity
Choose the correct answer from the options given below :
(1) (A) and (B) only
(2) (C) and (D) only
(3) (D) and (E) only
(4) (A) and (E) only

(A)

(B)  =HUIEHS TS

(C) e
D) g
(E)  hivfrg 9m

4 feu mu faaredi @ w8 39 %1 e Fifaw
(1) %ed (A) 3T (B)
(2) %4 (C) 3 (D)
(3)  %ae (D) 301 (E)
4 FEd (A) 3 (E)

[Question ID = 342][Question Description = Q42_Geog_SH1_Set1_A]
1. 1 [Option ID = 1365]
2. 2 [Option ID = 1366]
3. 3 [Option ID = 1367]
4. 4 [Option ID = 1368]

43)
The theory of plate tectonics does not help to explain the origin and location of which one of
the following?

(A) Mountain systems, major sea floors, earth quakes
(B) Earthquakes and major sea floors

(C) Ocean currents. climatic zones

(D) Earthquakes and mountain system

(E) Earthquakes

Choose the correct answer from the options given below :



(1) (A and (B) only
(2)  (C) and (D) only
(3)  (C)only

(4 (A) and (E) only

w2 Taadthl 1 fagE FeeiEa 8 3 e /s ea o wateaia i sEen e 8 gEEa w5
HAT B 7

(A) vEA T, THE FEG F9EE, Y

(B)  y#4 #N ugE TG AU

(C) =gl W, Sa &=

(D)  YF™ 3R TET 9

(E) 939

it fou o e o TE I =E R

(1) 3= (A) 51 (B)

(2) = (C) 31 (D)

(3) === (O)

(4)  FEE (A) A7 (E)
[Question ID = 343][Question Description = Q43_Geog_SH1_Set1_A]
1. 1 [Option ID = 1369]
2. 2 [Option ID = 1370]

3. 3 [Option ID = 1371]
4. 4 [Option ID = 1372]

44)
Which of the following natural characteristics are assoclated with dry monsoon forests of
India?

(A) Annual rainfall 1s below 50 em

(B) The trees have short roots

(C) Conditions remain favourable for plant growth throughout the year
(D) Thorny shrubs and grasslands are found between the trees

(E) Mango. Mahua. Sisam. Keekar etc. are the prominent trees

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (C) and (D) only
(3) (B) and (C) only
(4) (D) and (E) only

frafafiaa § 4 wR-4 wrfaes dam yra & o F@ga a4 | gafad 27
(&)  arfds =i 50 @i, | %0 g 2

(B) & &l J2 B Al 2

(©) i i afg & form g ad gffeafaed sEs = 2)

My "5 & = =0T bt afr wrarers uro St 3



o TR e

[t 4 . . P i ot i, e - Rt F DR i S R B sl

(E) M, g2, ¥fem, et 31fe T8l % g 9% 2|
49 fau o faeedi & #& 3w &1 @z Hifs

(1) e (A) 31 (B)

2 %A (C) 31 (D)

(3  FFd (B) 3 (O)

(4 Fae (D) 3 (B)

[Question ID = 344][Question Description = Q44_Geog_SH1_Set1_A]
1. 1 [Option ID = 1373]
2. 2 [Option ID = 1374]
3. 3 [Option ID = 1375]
4. 4 [Option ID = 1376]

45)

Which of the following statements are incorrect about the origin and growth of international

tourism industry?

(A)

(B)

(C)

(D)
(E)

Thomas Cook arranged the first package tours in 1841, taking travellers from
Leicester to Loughborough in UK.

The growing appreciation for variety in the cultural landscape in large European
cities such as Paris. Rome and London among tourist and other citizen played a role
in expansion of tourism

The end of world war II provided the greatest impetus to tourism
Jet plane failed to herald the new era in International tourism

Boeing 747 in 1970 did not attract much international tourism

Choose the correct answer from the options given below :

1
(2)
(3)
(4)

(A). (C) only
(C). (D) only
(D). (E) only
(B). (D) only

SR v I & Ay AR fawm 4 Hefua Fofafea 4 8 SR-8 g gma 27

(A)  dmE FH 4 1841 § Ugell Tha AN 1 wag fhm T wfgi # 3.%. § oRw 1 de o
ST TR

(B) U, T9 3 Fied S 92 girfa FRE 6 Ao afrgrs 6 fafaua 8 wdesi @ e qeifn
&1 "gdl feerawdl 3 wfeq & wan 4 s farg)

© fedra fava gz 6wl 3 wieq = waifas wfE vem 6

(D) Y A g 0 g [ 4 e faum sreme @

(E) 1970 1 =En 747 *1 sifas standtg gdes 98 faem

4 feu u faswedi @ @&l I &1 =79 Hifom .

(1) &= (A). (C)

(2)  %ad (0), (D)

3  Fad D). (B)

(4) %99 (B). (D)

[Question ID = 345][Question Description = Q45_Geog_SH1_Set1_A]



A W N -

46)

1 [Option ID = 1377]
2 [Option ID = 1378]
3 [Option ID = 1379]
4 [Option ID = 1380]

Consider the statements about currents in Indian Ocean

A

(B)
(€)
D)
(E)

North of equator, the formation of ocean currents is not influenced by the changing
nature of the monsoon wind system.

Somali current 1s the warm current of Indian Ocean
Somali current 1s the cold current of Indian Ocean
Peru current 1s a cold current of Indian Ocean

North-Equatorial current of Indian ocean disappears in the months of August and

September

Choose the correct answer from the options given below :

(1)
(2)
(3)
4

(A) and (B) only
(C) and (E) only
(B) and (C) only

(D) and (E) only

fae werEmr & grs | gafua s w faan 56l

(4)
(B)
(©)
(D)

(E)

feryaa vt o 3 0 Tyl 9Esl & d4H 9 HHEA 99 9ONEll o ddeld SEd &l udTE Jd g

Hmrefl g fae gemErR 6 3w un 2)

e aw fa= vemrr & sf| 9w 2)

e un Tz werarr & sfta g 2

feme werarr ) sehi-fayadta gm0 sera 3 faeren & 9@9 @ 3999 @ A 2

44 feu o fawedi 9 g8 39 @ =999 Fifo

(1)
(2)
(3)

(4

Fad (A) 3H (B)

*Hde (C) 31 (E)

#Hael (B) 31 (C)

Fae (D) 31 (E)

[Question ID = 346][Question Description = Q46_Geog_SH1_Set1_A]
1. 1 [Option ID = 1381]
2. 2 [Option ID = 1382]
3. 3 [Option ID = 1383]
4. 4 [Option ID = 1384]

47)

(A)
(B)
(C)

(D

Which of the following statements are correct regarding ‘Doabs’ of Punjahb?

Jalandhar Doab between the Beas and the Sutlej
Bari Doab between the Beas and the Ravi
Sindh Doab between the Ravi and the Jhelum

Chhaj Doab between the Beas and the Ravi



Choose the most appropriate answer from the options given below :

(1) {A) and (B) only
(2) (A) and (C) only
(3) (C) and (D) only

(4) (B) and (D) only
THE F SIS % A1 H HeleEd | 8 A J H w5E A 7
(B) = AN T+ W€ A A
(C) T R e % & g gem

(D) =W 37 TE F §E o aeE

= fou 7w Tl @ wE 3 1 =5EA A
(1) = (A) #1 (B)
(2)  ae (A) #HE(C)
(3) T« (C) 3 (D)

(4) A (B) (D)
[Question ID = 347][Question Description = Q47_Geog_SH1_Set1_A]
1. 1 [Option ID = 1385]
2. 2 [Option ID = 1386]

3. 3 [Option ID = 1387]
4. 4 [Option ID = 1388]

48)

Which of the following statements are correct about the benefits of international trade?

(A) It has allowed an enormous variety of resources to enter into trade basket

(B) It facilitates the distribution of a wide range of manufactured goods. produced in
different parts of the world to global market

(C) International trade decreases the overall costs of production
(D) It has helped the developing countries more than developed countries

(E) It has helped the consumers to buy more goods from whatever wages they earn and

their living standards improved

Choose the correct answer from the options given below :
(1)  (A). (B), (E) only
2  (O). D). (E) only
3) (A (B). (C) only
4) (A, (©). (E)only

SAAEE NN F AT H BEGa HEieigd § H R0 F9 6 8 7

(A)  THF I SANE U9 AT TR % GErgE) i =99 54 2



(B)

(C)
(D)

(E)

A & @Etys 9vn § 3enied Wid-9iE % 307 i 3a® 9En § [@aia w6 oHd g9EEa
frerdt 21

SO AT H I A A H S e @ied § geEa 0 2 5 3% e T 0 gan

7T 2

I U T e | g 3w =EA i,

(1)

(2)

(3)

(4)

Fa4 (A). (B). (E)

F=e (C). (D). (E)

Fae (A). (B). (C)

Faa (A). (C). (E)

[Question ID = 348][Question Description = Q48_Geog_SH1_Set1_A]
1. 1 [Option ID = 1389]
2. 2 [Option ID = 1390]
3. 3 [Option ID = 1391]
4. 4 [Option ID = 1392]

49)

Identify the terrestrial disasters

(A)
(B)
<)

(D)

Cold wave

Seismic

Collision of meteors with the earth

Tsunami

Choose the correct answer from the options given below :

(1)
(2)
(3)

(€Y

(A) and (B) only
(B) and (C) only
(C) and (D) only

(B) and (D) only

fietfetfian 4 4 difuss smagisi &1 ga=rfu

(A)

(B)

(©)

D

i A
Ceap
Fewiuel &1 gl § ZHH

A

41 Teu u fawren 9 w18 39 & =94 Hifau .

(1)

@)

Fdd (A) 311 (B)

&del (B) 31 (C)



(3)  ad (C) 311 (D)
(4  Fad (B) #F (D)

[Question ID = 349][Question Description = Q49_Geog_SH1_Set1_A]
1. 1 [Option ID = 1393]
2. 2 [Option ID = 1394]
3. 3 [Option ID = 1395]
4. 4 [Option ID = 1396]

50
) Which of the following waterfalls pertain to Narmada River?

(A) Mandhar

(B) Hiran
(C) Tawa
(D) Dardi

(E) Sahasradhara

Choose the correct answer from the options given below :
(1)  (A). (B)and (C) only
(2)  (&). (D) and (E) only

(3) (B). (C) and (D) only
(4) (C). (D) and (E) only

ffeafiga 4 4 sH-4 Fewara 9de) 4d) 4 Heifuq 27

(A) HUR
® fer
(C) @
D) o

(E) HeHuHmw

Fr feu o fawedi @ @ 30 @1 w7 Hifaw .
(1) %9 Q). (B) 3 (C)
(2)  %ad (A), (D) 3 (E)
(3)  FaA (B). (C) 31 (D)

(@)  FE4 (C), (D) HF (E)

[Question ID = 350][Question Description = Q50_Geog_SH1_Set1_A]
1. 1 [Option ID = 1397]
2. 2 [Option ID = 1398]
3. 3 [Option ID = 1399]
4. 4 [Option ID = 1400]

51)
Consider the following and choose the correct sequence of maps from larger scale to smaller scale

(A) Cadastral

g = 2% L) 1 POy eI, S |



e
(©)

D)

- Ty LR L W

Wall

Globe

Choose the correct answer from the option given below :

(1)
()
(3)
(4)

(A). (C). (D). (B) only
(B). (A). (C). (D) only

(C). (A). (B). (D) only

frefcifiaa w1 eI 4 wad gu qERE] #1923 w12 G w H eafeE fifi

(A)
(B)
©)

D)

Y- WA

IATEAF HAEE
CEIGREIEE

Tl

Jra feu o fasedi § ¥ w8 3w &1 97A Hifau

1)
(2)
(3)

(4)

(A). (C). (D). (B)

(B). (4). (©). (D)

(A). (B). (©). (D)

(C). (A). (B). (D)

[Question ID = 351][Question Description = Q51_Geog_SH1_Set1_A]
1. 1 [Option ID = 1401]
2. 2 [Option ID = 1402]
3. 3 [Option ID = 1403]
4. 4 [Option ID = 1404]

52)
Which of the following statements are correct related to population studies?
(A) The Neo-Malthusian theories, contended that in human population fertility behaviour
1s conditioned by technological development
(B) Thomas Malthus was an English Economist and demographer
(C) Population cohort refers to. a group of population unified by a specific common
characteristics
(D) Crude birth rate refers to birth rates minus death rates
(E) Population pyramids are constructed to identify natural growth rate of population
Choose the correct answer from the options given below :
(1) (A). (B), (D) only
(2)  (A).(C), (E) only
(3)  (A). (B). (C) only
4)  (B), (D). (E) only
T TR T § i A e T 2
(A) 7 geEEEE EHgEl | 7% T T R R g S 8, 56 a9ar S 9 ST e



(B)
©
(D)

(E)

Ty 7T 2

AT 575 2% ° A9 2 59 @ U9 O o § S5

SoEE fois e i TEE dtg 51 F TeEE F4 o s A R

I fzu U faweTl 3 9 w8 I 99 A

(1)
(2)
(3)

(4)

Fae (A). (B). (D)

Fa4 (A). (C). (E)

Fa4 (A). (B). (C)

F44 (B). (D). (E)

[Question ID = 352][Question Description = Q52_Geog_SH1_Set1_A]
1. 1 [Option ID = 1405]
2. 2 [Option ID = 1406]
3. 3 [Option ID = 1407]
4. 4 [Option ID = 1408]

53)

Identify the cryogenic indicators of paleoclimates :

(A)
(B)
(©)
D)
(E)

Evaporite deposites
Ice cores
Duricrusts

Varves

Ice sheets

Choose the correct answer from the options given below :

(1)
(2
(3)
(4

(A) and (B) only
(B) and (E) only
(A) and (C) only

(C) and (D) only

QAT o HETHE H=hi hl TEEAE w

(A)

(B)

(©)

(D)

(E)

gadrrge fEmm
are
o e

< feu Mo fawedi O 4 wdl I w1 991 Fifu

0y
()
(3

(4)

Fad (A) 31 (B)
%adl (B) 31 (E)
HaA (A) 3R (C)

*ae (C) 3 (D)



[Question ID = 353][Question Description = Q53_Geog_SH1_Set1_A]
1. 1 [Option ID = 1409]
2. 2 [Option ID = 1410]
3. 3 [Option ID = 1411]
4. 4 [Option ID = 1412]

54)
The volume. nature and direction of global trade is influenced by

(A) Economic advaneement

(B) Comparative and locational advantage
(8] Historical factors and investment

(D) Changes in global market

(E) Geographical distance

Choose the correct answer from the options given below :
(1) (A) and (B) only

(2)  (B). (C) and (E) only

(3) (B). (C) and (D) only

(490 (&), (B) and (C) only

Ay =R 6 9, i s fen fefafea 8 gt 22
(A) e wrfa

(B)  deHrEF 3R I @

(€ Uz wr sin faw

(D)  dfvas sram o uftadq

(B)  sirifers gi

9 feu o fawedi 4 | =8 I %1 =7 Fifav
(1) = (A) 3R (B)

(2) %A (B). (O) 30 (E)

(8) %€l (B), (C) 3 (D)

(4)  FEAQ), (B) 3R (C)

[Question ID = 354][Question Description = Q54_Geog_SH1_Set1_A]
1. 1 [Option ID = 1413]
2. 2 [Option ID = 1414]
3. 3 [Option ID = 1415]
4. 4 [Option ID = 1416]

55)
Which of the following pairs is not correctly matched?

(A) Kos1 — Consequent river
(B) Narmada — Rift Valley river
(C) Sutle] — Antecedent river

(D) Ghaggar — Endoreic river

Choose the most appropriate answer from the options given below :



(1)  (A)only

(2) (B) only

(3) (C) only
4 (D)only
faeferfiad 4 | &3 =1 g9 gafe 941 27

(a) i - e 48
(B) A - A A
(C)  wderd — qaadi 44l
(D)  H9F - 3i:5ErE e

9 feu 1o faweTi § | 58 I w1 =299 Fifu

(1) = (A)
(2 %94 (B)
(3) %4 (C)
(4  %dd (D)

[Question ID = 355][Question Description = Q55_Geog_SH1_Set1_A]
1. 1 [Option ID = 1417]
2. 2 [Option ID = 1418]
3. 3 [Option ID = 1419]
4. 4 [Option ID = 1420]

56)
Which one of the following are methods of load movement of sediment transportation in

oceans?
(A) Traction
(B) Saltation

(C) Turbulent flow

(D) Flocculate

Choose the most appropriate answer from the options given below :
(1) (A only

(2) (A) and (B) only

(3)  (A). (B)and (C) only

(4) (B). (C) and (D) only

UM & HGHTe (deTae) Yidsd & 9N-g9eH 6 eafatad O 9 &3 A fafem 27
(A)  FH
(B)  EvfrE

(C) e varE



(D) A (FAEe)

4 fau 7o fasedi § 8 wad IUgF IR F T HA
L FEE A

(2) %9 (A) 3R (B)

(8) %9 (A), (B) 3l (C)

(4 % (B). (C) 31 (D)

[Question ID = 356][Question Description = Q56_Geog_SH1_Set1_A]
1. 1 [Option ID = 1421]
2. 2 [Option ID = 1422]
3. 3 [Option ID = 1423]
4. 4 [Option ID = 1424]

57)

Population migration

(A) pull factor in population migration refers to availability of livelihood opportunities at
destination places

(B) step migration refers to stepwise availability of livelihood opportunities at destination
places

(C) push factor in population migration refers to less limited availability of livelihood
opportunities at originating place

(D)  migration field refers to return migration to originating place

Choose the most appropriate answer from the options given below :

(1) (B) and (D) only

(4] (A) and (B) only

(3) (B) and (C) only

(4) (A) and (C) only

BRI RCEE!

(A)  FHEET vgad 4 flg=E S Taed e 91 Sifas o sram F Iuersaa & 9 0 94 2|

(B)  =HUEE YAHA Tasd ¥l 9T Sfifae % sraed 6 = -an 9ered & an o "dqrd 2

(C) oRReq vaud U gard & qd E W Hdifgs & smagd i el @ difva sudesa & 9n 1
AT 2|

(D)  WaHH &4 4ol T hl 3R 99H Y95 61 6 9] § gard 21

4 feu o fawadi § & @d 3w & @ Fifw

()  %a (B) 3 (D)

(2) %99 (A) 31 (B)

(3 %4 (B) 31 (C)

@ FE (A) 3 (0)
[Question ID = 357][Question Description = Q57_Geog_SH1_Set1_A]
1. 1 [Option ID = 1425]

2. 2 [Option ID = 1426]
3. 3 [Option ID = 1427]



4. 4 [Option ID = 1428]

58)
Who among the following climatologists advocated Hekistothermal concept in his climatic
classification?
(A) Miller
(B) Koppen
(C) Candole

(D) Trewartha

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only
4) (A) and (D) only

frferfiga 1 4 form soramg St 3 33 Sorary gad srffemn § 2feacenta smauamn £ a%ed 67

A faew
(B) A
(C) H=E
(D)  zai

I feu o fawedi O 4 wdl 3 &1 999 Fifau .

(1) & (A) 301 (B)

(2)  Ed (B) 301 (C)

(3)  %ae (C) 30N (D)

@) FHEe (A) 3 D)
[Question ID = 358][Question Description = Q58_Geog_SH1_Set1_A]
1. 1 [Option ID = 1429]
2. 2 [Option ID = 1430]

3. 3 [Option ID = 1431]
4. 4 [Option ID = 1432]

59)  Which one of the following statements is/are incorrect regarding waves?

{A) wave height 13 not indicator of wave energy
(B) wave height is controlled by wind strength
(C) the distance of open water a wave travels over affects the wave height

(D) the depth of the sea is important factors affecting wave height

Choose the most appropriate answer from the options given below :

(1) (A) only
(2) {A) and (B) only

(3) (C) only



(4) (C) and (D) only
freferfiaa 4 | =1 |1/49 %9= o0 & o/ 4 98 98 27

(A) @ F A i 6 A FiI gwas 190 2

B) A & Far ain F vl g fata g 2

(©) g 5 i gfi, forll o =erdt 2, 39 Sarg & gifaa w2
@) =4z F Ed qm F San w6 ywifad w59 9en v ggeyl s 2

= fou  fasedi § A 5EE T IR H FEH HI0AC
(1) %9 A)

(2 %4 (A) 3R (B)

(3) %4 (C)

(4 %9 (C) 37 (D)

[Question ID = 359][Question Description = Q59_Geog_SH1_Set1_A]
1. 1 [Option ID = 1433]
2. 2 [Option ID = 1434]
3. 3 [Option ID = 1435]
4. 4 [Option ID = 1436]

60) Which of the following statements about international trade in post-globalisation phase are correct ?

(A) The share of international trade has doubled now in comparison to that of 1950
(B) Protectionist tendency in trade stands highly discouraged now
(C) The share of developing countries has increased substantially

(D) The share of manufactured goods has grown sharply

Choose the most appropriate answer from the options given below :

(1)  (A).(B). (D) only
2 (B.(C). (D) only
(3 (&) (C). (D) only

4) (A), (B). (C) only
I -dvdiar % gog 4 sanngE saan & fawa O frofafaa 4 3 F9-8 w99 59 27
(A) 1950 FI g1 § AFEE AR F1 T @ E T A
(B) 3@ SR v waid il steafas stz fe w2

(€) fammmmsfiar gui = fee 1 vty gfg 24 21
(D)  fAfda awqsn o faemn asfi 4 =e1 2

A= feu o faeredi § © HeH 3T I #1 9= il
(1)  %a (A), (B). (D)
2 %34 (B). (C). (D)

(3)  FHad (A). (C). D)



@ %9 (A), (B). (O)

[Question ID = 360][Question Description = Q60_Geog_SH1_Set1_A]

1.1
2.2
3.3
4. 4

61)

[Option ID = 1437]
[Option ID = 1438]
[Option ID = 1439]
[Option ID = 1440]

Which one of the following groups of land forms is produced by erosion?

(A) Fiords. Drumlins, Natural levees
(B) Playa. Pinacle, Swallow holes
(C) Esters, Outwash plain, Till

D) Cirques, Stalagmites. Ventifacts

Choose the most appropriate answer from the options given below :

(1) (A) and (D) only
(2) (A) only
(3) (B) and (D) only

(4 (B)only

frreferfiae o & fom /Te -l e/ |el 1 o srced grn &ien 27
(&) e, gafem, wepfas ded

(B) I, =€, fae 9

©  wE, femrida dom, e gt

(D) Fh, weimrge, arguey

3 fau o famedi § B wEd IV TR B A B
(1) =l (A) 3 (D)

(2 e (A)

(3)  @aE (B) 3 (D)

4 a4 (B)

[Question ID = 361][Question Description = Q61_Geog_SH1_Set1_A]

1.1
2.2
3.3
4. 4

62)

[Option ID = 1441]
[Option ID = 1442]
[Option ID = 1443]
[Option ID = 1444]

Read the statements carefully and find out the incorrect one. associated with GIS

(&) Data from several sources is integrated 1n consistent form
(B) “‘What if scenarios can be visualised
(C) In vector — data base, map data 1s stored using a matrix of grid cells

(D)  Attribute data are descriptive data of features



Choose the most appropriate answer from the options given below :

(1 (A) only

(2 (B) only
(3) (C) only
(4) (D) only

St 38 v % way ° fmfafaa § 4 «F W % w2

(&)  fafim =6l 8 wm AiwS 1 w@ v § vhigd fem s 2

(B) F - 3 (we-TE) UigEEl ®I IR FY { @ S gl 2

(C) A&t =ry=H | fire e\ & Afea &1 378/ w4 70 gHf=3 siiFel &l 2R fe s 2)

D) Ffege = fafireaisi & aoiaens e 26 2|

= fou o faeredi § & A9 399w I &1 =54 hifA0

(1 &= (A)
(2 F44 (B)
(3 %4 (0)
@ & (D)

[Question ID = 362][Question Description = Q62_Geog_SH1_Set1_A]
1. 1 [Option ID = 1445]
2. 2 [Option ID = 1446]
3. 3 [Option ID = 1447]
4. 4 [Option ID = 1448]

63)
Which of the following are very high risk areas of earthquake?

(A) Tripura
(B) North Bihar

(C) Eastern Gujarat
(D) Haryana
Choose the most appropriate answer from the options given below :

(1 (A) and (B) only
2) (B) and (C) only
(3) (C) and (D) only

(4 (A) and (D) only
Y % aga Al sifiam 9 &E 2 -

@  Bgo
B) I faEn

(©)  ydl e



(D) =i

A fau o fmedi § B wA I A Hif
(1)  ad (A) 31 (B)
(2 %€ (B) 31 (C)
(3) %9 (C) 3l (D)
(9 9 (A) 31 (D)

[Question ID = 363][Question Description = Q63_Geog_SH1_Set1_A]
1. 1 [Option ID = 1449]
2. 2 [Option ID = 1450]
3. 3 [Option ID = 1451]
4. 4 [Option ID = 1452]

64) Who among the following geographers. focused on man centered Geography?

(A) Davis and Sample

(B) Huntington and Blache
()] Gefferron and Humboldt
(D) EBlache and Reclur

(E) Guelke and Jean Brunhes

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (D) only
(3) (D) and (E) only
(4) (A) and (D) only

fre=fifigs & #1499 grilEe 99a #Hfwa 9ie ® e T v

(A)  =fam urz goge
(B)  Efea 1R s
(C)  —EA HR ==
(D) welTer S frere
(E) 7% 3R SH g4

A= fou T e © W wE I =Ee i

(1) =& (A) 31 (B)
(2) == (B) #iT (D)
(3)  =aw (D) ¥ (E)
(4)  Fa9 (A) FE (D)

[Question ID = 364][Question Description = Q64_Geog_SH1_Set1_A]
1. 1 [Option ID = 1453]
2. 2 [Option ID = 1454]
3. 3 [Option ID = 1455]
4. 4 [Option ID = 1456]

65)

o Dd B | e R e PN 0 Pp L L Ut o L. yUaanlii ) T RN, i

PRI TIRT oy, i P (PTL R |



WY LLILLL AL LLIE LY LIS Vel Als Al LIVL adoolilaltid wWillll olllls pPay LU UTLVEL .

(A) Thermometer
(B) Swivel joint
(C) Screen

(D) Sieve

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only

(4) (B) and (D) only

frefarfiaa 4 9 =F 7 ifeafes s foom aresdie 3 g9 748 27

A i

B) e =E
(C)  %=hiA

(D) =l (Hia)

4 feu o fasedi d | gl 3vgw I F T Hif

() %= (A) 31 (B)

(2  %a9 B) 31 (O)

(3) e (C) 31l (D)

(4)  Fad (B) 51 (D)
[Question ID = 365][Question Description = Q65_Geog_SH1_Set1_A]
1. 1 [Option ID = 1457]
2. 2 [Option ID = 1458]

3. 3 [Option ID = 1459]
4. 4 [Option ID = 1460]

66)
Match List I and List IT ;

ListI List IT

(Thinker/Scholar) {Theorv/Model/Strategy)
(A) Gunnar Myrdal (I)  Strategy of unbalanced growth
(B) A.O. Hirschman (I) Circular and cumulative causation
(C) John Friedmann (ITT) Growth centre and growth axis
(D) J. Boudewville (IV) Core and periphery

Choose the correct answer from the options given below :

1 A-D. B)-ID. (O-dIL). (D)(IV)
(2)  A)-aDn. B)-@. (O)-AV), (D)-IID
(3)  (A)-AID. (B)-(IV). (O)-0), (D)-(ID)



4 A)-IV). (B)-(I). (C)-aD). (D)-(M

Hl-1 % =512 &1 g-I1 TraH difam
i 1 i 11
(ferermees/ fergr) (fagia / mfza / wrffa)
(&) TR fage @  swdfera fase o
(B) u . fewm (D) wigefia vd w= R w1 Hay
(C) ¥ Wrggi (M) fara & sit fawm of
(D) . "3 (IV) &= (Core) 3N 4fifY (periphery)

i< fqu o fasedi § | W& I H1 95 Fifw

(1) (A)-D). (B)-(ID. (O)-IID). (D)-(IV)

(2) (A)-(ID), (B)-(D). (C)-AV), (D)-(IIT)

(3) (A)-(11D), (B)-(IV). (C)-(T). (D)-(II)

(4) (A)-(IV). (B)-(I1I). (C)-II). (D)-(I)

[Question ID = 366][Question Description = Q66_Geog_SH1_Set1_A]
1. 1 [Option ID = 1461]
2. 2 [Option ID = 1462]

3. 3 [Option ID = 1463]
4. 4 [Option ID = 1464]

67)
Match List I and List II :
List I List IT
Proponent Philosophy of Geography
(A) Gibson () Idealism
(B) Guelke (I) Realism
(C) Peet (IIl) Behaviourism
(D) Wright and Kirk (IV) Radicalism
Choose the correct answer from the options given below :
1)  A-IID. (B)-AL). (C)-@). (D)-(IV)
(2)  A)-IV), (B)-(I). (C)-1D). (D)-(I)
(3)  AXID. (B)-(D). (C)-AV), (D)-(I1I)
4 A-D). B)-IID). (C)-(IV), (D)-(1D)
gl 1% Wy 1 gi-11 faam $ifi .
-1 H=1-IT
&) fre @  FedEr
(B) el D) e
(C) 1 (IIT) ==9ENETe
(D) rge g fadh (IV) 3feare

Hr9 feu e fyeedi § A 9d 3 &1 = fifaw



(1)
(2
(3)
(4)

(A4)-(1D). (B)-(II). (C)-(@). (D)-(IV)
(A4)-IV). (B)-ID). (C)-I). (D)-(I)
(A)-ID. (B)-(D). (C)-(IV). (D)-(II)
(A)-@). (B)-(IID). (C)-(IV). (D)-(II)

[Question ID = 367][Question Description = Q67_Geog_SH1_Set1_A]
1. 1 [Option ID = 1465]
2. 2 [Option ID = 1466]
3. 3 [Option ID = 1467]
4. 4 [Option ID = 1468]

68)
Match List I and List IT :
ListI List IT
Urban terms Definitions
(A) TUrbanized Area () Continuously built up landscapes with
no political boundaries
(B) Conurbation (II) Continuous urban built-up area with
multiple urban centres
(C) Urban Influence Zone (IIT) A city with much higher population
(more than twice) than the proportion
of second largest city
(D) Primate City (IV) Areas outside cities having significant
city influence
Choose the correct answer from the options given below :
(1) (A)-@). (B)AII). (C)(IV), (D)-(IIL)
(2) (A)-(IID). (B)-(ID). (C)-(I). (D)-(IV)
(3) (A)-(ID), (B)-(IID), (C)-(D. (D)-(IV)
(4) (A)-(IV). (B)-(I). (C)-(D), (D)-(IIL)
I = 1 ge-I1 fuam $ifaw
T .11
_ el Srereed BRI
(4) TR & @ o el e @ % wad w9 @
i (I) =% #KA H5i Afza qqd FrE qifd &=
LR (IID) =7 ' fadl SHEen gl %9 & FR &
S | wEd AU 2 (G | Hiw)
D) ¥Ha@ TR

I feu o fawedi O 9 9 3 @ 999 Fifso

(1)
2
(3)
4

A)-@). (B)ID). (C)-IV). (D)-(IID)
(A)-1D), (B)-AD. (O)-@). (D)-AV)
(A)-aD). (B)-dD. (C)-D. (D)-AV)
(A4)-(OV), (B)-(1D). (C)-(I). (D)-(III)

(IV) R % 91 98d 3= g g9 9Tl &6

[Question ID = 368][Question Description = Q68_Geog_SH1_Set1_A]
1. 1 [Option ID = 1469]
2. 2 [Option ID = 1470]
3. 3 [Option ID = 1471]
4. 4 [Option ID = 1472]

69)

Matech List I with List IT :



(A)
(B)
(©)
D)

Last 1

(Theories of origin of tides)
Equilibrium Theory
Dynamical Theory
Progressive wave Theory

Stationary wave Theory

List 11
{(Propounded by)
(I Newton
(IT) Laplace

(III) Whewell
(IV) Harris

Choose the correct answer from the options given below :

(1
(2)
(3)
4

(A)-0V), (B)-(ID). (C)-D), (D)-(D
(A)-(1D. (B)-(ID. (C)-aAV). (D)-(D
(A)-aD). (B)-IV). (O)-(D. (D)-AID
(A)-(I). (B)-(II). (C)-(I1I). (D)-(IV)

-1 % @1 *1 g-11 frerm it

(A)
(B)
(©)

(D)

I feu o fawedi § 9 98 39 @ =999 Sifsu .

(1
(2)
(3)
4

A1

=M % Igd & HaE

e fagm
vl @i fagra
st & fagia

(A)-@V). (B)-(ID). (C)-(I). (D)-(I)
(A4)-(1D). (B)-(ID). (C)-aAV). (D)-(D
(A)-ID. (B)-AV). (C)-(D). (D)-(1II)
(A)-I). (B)-(ID). (O)-(1ID). (D)-(IV)

HI-11

yfeare®
@ =
(I) e
() =R
@v) 2fH

[Question ID = 369][Question Description = Q69_Geog_SH1_Set1_A]

A WN -

70)

1 [Option ID = 1473]
2 [Option ID = 1474]
3 [Option ID = 1475]
4 [Option ID = 1476]

Match List I with List IT ;

(A)
(B)
(©
D)

List I

(Soil Type)
Laterite
Saline
Black

BRed loam

List IT

(Places of occurrence)
(I Rahr plain
(I) Maharasthras plain
(ITII) Rajmahal Hills
(IV) EKutch region

Choose the correct answer from the options given below :

(1
(2)

(A4)-(1), (B)-IV). (C)-(IID). (D)-()
(A)IV). (B)-(ID), (C)-IID. (D)-(D



(3)
C))

(A4)-(1ID). (B)-(IV). (C)-D. (D)-(D
(A)-0V), (B)-(ID. (C)-(D). (D)-dID)

HH-1 % w1 g1 g $ifsm

-1

qazmsml
&) derrge
(B) ofam

(C) el

(D) el gue

H= feu o fgeedi O | 98 IR % 95 Fifae .

(1)
2
(3
@

(A)-aD). (B)-(IV). (C)-(ID), (D)-(D
(A)-AV). (B)-ID). (C)-(III). (D)-(I)
(A)-IID). (B)-@V). (C)-(ID). (D)-(I)
(A)-AV). (B)-D). (C)-D. (D)-(I1L)

gHI-I1

uré S arell e
@ W H deH
(D) wewrg 1 deH
(IIT) “rsmeet 6 garte

(IV) *=5 &

[Question ID = 370][Question Description = Q70_Geog_SH1_Set1_A]

1. 1 [Option ID = 1477]
2. 2 [Option ID = 1478]
3. 3 [Option ID = 1479]
4. 4 [Option ID = 1480]
71)
Match List I with List IT :
List I
Transport Network Measures
(A) Network Density
(B) PilIndex
(C) EtalIndex
(D) Theta Index

List IT
Definition
() Average length per link
(II) Transport network in terms of km of

links (L) per square kilometer of
surface (S)

(III) The relationship between total length
of the graph (G) and the distance a log
its diameter D(d)

(IV) Average amount of traffic per
intersection

Choose the correct answer from the options given below :

1 A)-D). B)-ID). (C)-(1ID). (D)-(IV)
2 (A)-ID. (B)-(D. (C)-AV), (D)-(IIT)
(3) A)AIID. B)-1D). (C)-(IV), (D)-(ID)
4 (A)-ID. (B)-(ID). (C)-(D). (D)-(IV)
HeA1-1% |1 &1 g1 e fifo
11
(A) Hedd ude
(B) i 3 gEFF

111
BIREIT|
@ ufa yan (fore) sfiHa aars
(1) §dg & 9fd @ fehetriel gon &1 6. @i, &
Ha9 4§ viEed J2ad

ottt TRt . " AL Pl e ] R e L U PO B+ o .



{

i

D)

4 fou mo fawedi O 9 9 3 %1 939 Fifsu .

(1)
(2)
(3)
4)

el gl

(A)-I). (B)-(II), (O)-(1I). (D)-(IV)
(A)-(D). (B)-(D). (C)-0V). (D)-(IID
(A)-ID). (B)-(D. (C)-(IV), (D)-(II)
(A)-D). (B)-(IID). (C)-D. (D)-IV)

LR NS et B ot B b R Lt e ] M Lt B R L @{I
%+ o9 Hay
Iv) wfa ufeesfea siea awmm 6 e

[Question ID = 371][Question Description = Q71_Geog_SH1_Set1_A]
1. 1 [Option ID = 1481]
2. 2 [Option ID = 1482]
3. 3 [Option ID = 1483]
4. 4 [Option ID = 1484]

2) Match List I with List IT
ListI List IT
Whitlesey's Agricultural region Name of country
(A) Commercial dairy farming ()  Mangolia
(B) Commercial grain farming (I) Srilanka
(C) Nomadic herding (III) New Zealand
(D) Commercial plantation (IV) Argentina
Choose the correct answer from the options given below :
1 @A)-D. B)-dD. (C)-aID). (D)-(IV)
(2) (A)-ID). (B)-(IID). (C)-AV). (D)-(D
(3)  (A-IID. (B)-aAV). (O)-D), (D)-(ID)
(4 (A)-(IV). (B)-(I1I). (O)-(I). (D)-(D)
-1 % =1 %1 FA-I1 faerm Hifsm
H411 i1
faecrd =1 HfY wem < H1 M
(&) arffas g9 Iere (D werferan
(B) @Tiifsae @remd 3eTTeH () Hic
(C) ITATR FIHTeH (IIT) =tiets
(D) arfifsas qiarmm (IV) v

4= feu mu famedi O 8 w6 3w 994 i

(1)
2)
(3)
4

(A)-(), (B)-1D), (C)-(1ID). (D)-IV)
(A)-(1). (B)-(ID. (C)-IV). (D)-(D)
(A)-(1ID). (B)-(IV). (O)-D), (D)-(II)
(A)-(IV). (B)-(ID). (C)-(1D). (D)-(D)

[Question ID = 372][Question Description = Q72_Geog_SH1_Set1_A]
1. 1 [Option ID = 1485]



2. 2 [Option ID = 1486]
3. 3 [Option ID = 1487]
4. 4 [Option ID = 1488]

73)
Match List I with List IT :
ListI List II
Tropical Disturbances Wind speed in eirculation (in kmph)
(A) Low pressure area () 89-118
(B) Cyclonic storm (I 31-49
(C) Depression (II) <31
(D) Severe cyclonic storm (IV) 62— 88
Choose the correct answer from the options given below :
1 A-av). (B)-ID. (O)-(ID). (D)-D
(2 (A, B)-1D). (O)-O. (D)-AV)
(3) (A, B)-IV). (C)-ID. (D)@
@ A-O. B-IV). (O)-a1D), (D)-(ID
g1 % |1 <1 g1 frers ifse -
-1 H1-IT
Forefzasia faaim afrg=o § g = (i) ufd =en
(a) A zaE e () 89-118
(B) =sHard qHH (ID 3149
(C) A (IIT) =31
(D) o Hhardta qEH (IV) 62-88

49 feu o foreredi 4 wEl 3w o =2e Hifa

(1
(2)
(3
(4)

(A)-aV), (B)-(D. (C)-(IID). (D)-(D)
(A)-(ID). (B)-(ID). (C)-(@). (D)-IV)
(A)-(IID). (B)-(IV), (C)-ID. (D)-(D
(A)-@). (B)-(IV). (C)-11I). (D)-(ID)

[Question ID = 373][Question Description = Q73_Geog_SH1_Set1_A]
1. 1 [Option ID = 1489]
2. 2 [Option ID = 1490]
3. 3 [Option ID = 1491]
4. 4 [Option ID = 1492]

74)

Match List I with List IT :

(&)

(B)

(€

ListT
Cultural Terms

Cultural Hearth

Cultural Landscape

Cultural traits

@

(1D

List IT
Definition

Cultural parameter that specify
learned behaviour

Areas of innovation from which key
cultural elements diffused to
surrounding areas

(III) Surfaces or areas modified by human



action to produce tangible and
physical records over a period of time

(D) Cultural Realms (IV) Cultural regions showing related
cultural complexes and landscapes

Choose the correct answer from the options given below :

(1) (A)-aD). (B)-(IV). (O)-(D). (D)-(IIL)
2 (A)-IID. (B)-1I). (C)-I). (D)-(IV)
(3)  (A-AID. (B)-IV), (O)-@), D)-(ID
4 (A-ID. (B)-(IID). (C)-@). (D)-IV)

-1 % = &1 F=1-I1 e $ifs
11 wfi-I1
Hehfd sregrEe] afrare
(&) @rEHfas geHed ()  wieplas wreg o fagaml srasn 1 guf
2l
(B) Hiafds q-5v3 (1) sfyma =1 @ fowd yge wiesfas 9
STE-YTE & &1 § i 8 A 2|
(C) |rEHfaH o (1D ol Hoarafy § gaeia sl gr afaEfda v
g Yl &9 &1 gd v difas ferrd
(D) |repias gimHvge (IV) Helfrd wpids wraaisl a1 q-gvdi i

dre feu o famedi § 4 wdl 3w & =22 Fifau

1y  A-aD. B)-(IV). (C)-(D). (D)-IID

(2)  @-dID. B)-ID. (C)-@). M)-IV)

(3)  @-AID. B)-AV). (O)-@D). (D)-(ID)

4 (A-aD. @)-D. (C)-M. (D)-(IV)
[Question ID = 374][Question Description = Q74_Geog_SH1_Set1_A]
1. 1 [Option ID = 1493]
2. 2 [Option ID = 1494]

3. 3 [Option ID = 1495]
4. 4 [Option ID = 1496]

75)
Match List I with List IT :
ListI List IT
Land forms Agents of gradation
(A) Monadnocks ()  Wind
(B) Blind valley (I Glaciea
(C) Drumlins (III) River
(D) Zeugen (IV) Ground water
Choose the correct answer from the options given below :
(1)  A)-ID). (B)-(ILD. (C)-I). (D)-(IV)
2)  @-IV). (B)-1D. (C)-11D). (D)D)
(3 (A)-(I). (B)-(1D. (C)-(IV), (D)-(ILD)
4  (@)-I0D. B)-AV). (C)-1D. (D)-(ID)
Hl-1 % =19 =1 gH-11 faerm Sifae .

-t T -t TT



-1 A

e lEanall e HdeH = HHb
(A) HHEATH O 9
(B) 9 9 (ID fewe
(©) gufer ([D
(D) YA (IV) ™ e

4 few o el 8 @ @dl I & = Fifae

(1)  @A-a1). B)-aII). (O)-@. (D)-IV)
(2)  A)-aV). (B)-(1D. (C)-(ID), (D)-(D
(3  A-D. B-ID. (O)-aV). (D)-(II)
(4  (A)-aID. (B)-(IV). (O)-ID). (D)-(D

[Question ID = 375][Question Description = Q75_Geog_SH1_Set1_A]
1 [Option ID = 1497]
2 [Option ID = 1498]
3 [Option ID = 1499]
4 [Option ID = 1500]

A w N =

76)
Which one of the following is the correct chronological sequence of the German School of

Geographers?

(A) F.V. Richthofen — F. Ratzel — Alfred Hettnen — Oscar Paschel
(B) F. Ratzel — Oscar Paschel — F.V. Richthofen — Alfred Hettner
(C) Alfred Hettner — Oscar Paschel — F.V. Richthofen — F. Ratzel
(D) Oscar Paschel — F.V. Richthofen — F. Ratzel — Alfred Hettner
(E) F.V. Richthofen — Alfred Hettner — F. Ratzel — Oscar Paschel

Choose the correct answer from the options given below :

(1) (A) and (D)
(2) (C) and (D)
(3) (A) and (B)

(4 (D)only

freferfigd 4 #1 =1 % PIAdTIs & 0 TS (¥ ) F1 HE HAHHE 8 7
(A) Ui fEUE - U 29 - Ae%S g - IR e
(B) U%IZHA - it Urdd - 0 ol fEUih - 30wE g
(C)  3IFFS #3A - 3R el - U, o1, fra9m= - us tese
(D) I UEd - UE o e - uE ede - 3ews 2

(E) U & {E@dHA - 309 g3 - UF T90d - A I

4= feu v fawedi 0 9 981 30 & 999 Fifso .
(1) (A) 317 (D)
(2) (C) 3R (D)

() (AY 3T (B



(4)  wad (D)

[Question ID = 376][Question Description = Q76_Geog_SH1_Set1_A]
1. 1 [Option ID = 1501]
2. 2 [Option ID = 1502]
3. 3 [Option ID = 1503]
4. 4 [Option ID = 1504]

77)
Indian States are arranged in ascending order on the basis of road length (2017)

(A) Tamil Nadu
(B) Karnataka
(C) Maharasthra

(D)  Gujarat

Choose the correct answer from the options given below :

(1)  (©).B). A). D)
(2 @A), B. (). D
(3)  (B).(C). M). (A)

@ (D). B).A). ©

HeF @4 (2017) & AU T YR T %) SFNE F0 4 sqateE ol

(&)  dfEerrg,
(B)  HACH
(C) HewTg
D) T

Fr feu o faeredi § 4 wEl I @ =29 difau

(I (0. (B). (A). D)
2) (A3 (). D)
(3)  (B).(C). (D). &)
4 D). ®B).A).(©)

[Question ID = 377][Question Description = Q77_Geog_SH1_Set1_A]
1. 1 [Option ID = 1505]
2. 2 [Option ID = 1506]
3. 3 [Option ID = 1507]
4. 4 [Option ID = 1508]

78) Arrange the following layers of vegetation on the basis of their height in ascending order

(A) Dominant layer
(B) Herbaceous layer

(0 Codominant layer



(I Ground layer

Choose the correct answer from the options given below :

(1) (B (0).(A). D)
(2) (D). (C). (B). (A)
(3) (A (B).(C). D

49 (D). (B.(0). (A
freiferfaa et % & 305 Sar % snun w3 #9 °§ ssafem ifu)
(A) 99l =
(B)  9RA T

(C)y  geuyrEl =

D) Y-F=

= feu o fameqi 0§ w1 3 & 999 Fifa

(1 B (). A). D

2 (D). (C). (B). (A)

(3) (A). (B). (C). (D)

4 (D). ®).(C). &
[Question ID = 378][Question Description = Q78_Geog_SH1_Set1_A]
1 [Option ID = 1509]
2 [Option ID = 1510]

3 [Option ID = 1511]
4 [Option ID = 1512]

A WN -

79)
Arrange the following with respect to the interior of a thunderstorm cell

(A) Downdraft
(B) Rain
(C) Storm travel

(D)  Anvil top

Choose the correct answer from the options given below :

(L (©). D). A). (B
(2)  (B. (). D). @A)
(3  @. 3. (). D

4 (B. () A, D)
Ush dfed e SR (H) = 37d% &9 & Hed 1 Hafm Fifsw

(A)  Sh3HgM



(B) =i
(€ Tm

(D) AR 2i

4= feu o fawedi 4 9 w1 3 = 939 Fifsw

L (C). D). (A). (B)

2 (3. (). D). A

3  (A.®3). (). D)

@  (B). (). A). D
[Question ID = 379][Question Description = Q79_Geog_SH1_Set1_A]
1 [Option ID = 1513]
2 [Option ID = 1514]

3 [Option ID = 1515]
4 [Option ID = 1516]

A WN -

80)
Which of the following states recorded literacy rates in descending order as per census
2011 data?

(A) Kerala
(B) Himachal Pradesh
(C) Haryana

(D) Odisha

Choose the correct answer from the options given below :

(1 (A). D). (C). (B)
2  (B).A.(©C). D
(3) (A, B). (). (D)
4 (A).(C).®B). D)
2011 6l FFUET & TS| & FTHR HIEFAT g & Haild oo 4 fefefaa o= ) ford)

-

A) e
(B) T gew
(C)  =femm
(D)  safemm

I feu o fawedi 4 9 9dl 3 @ =94 difs .
(1) (A D). (©C). @B

2  B.@A.(©C).D

(3)  A). B, (O). D)

AN FAS A JIYY ATy



L A0 A d. R RS

[Question ID = 380][Question Description = Q80_Geog_SH1_Set1_A]
1. 1 [Option ID = 1517]
2. 2 [Option ID = 1518]
3. 3 [Option ID = 1519]
4. 4 [Option ID = 1520]

81)
Arrange the given years in descending order on the basis of number of people affected by

natural disasters in India?

(A) 1988
(B) 1989
(C) 1985
D) 1991
(E) 1994

Choose the correct answer from the options given below :

1y A.(C).B). D). (E)
2) (D). (A), B). (). (E)
3y (B). (A (E). D). (C)

4 (E). D), B).(C). (A

fi= feu o adi =i wra d gkl sagsn g vl ST Rl e 6 YR W e Y 4 srafe
Exdl

(A) 1988
(B) 1989
(C) 1985
(D) 1991
(E) 1994

4= feu v faeedl § § |l I &1 =94 Fifdu .

1) (A).(C). B). D). (E)
2) D). (A). B). (C). (E)

(3 (B). (A (E). D). (C)

4 (E). D). ®B).(C). A

[Question ID = 381][Question Description = Q81_Geog_SH1_Set1_A]
1. 1 [Option ID = 1521]
2. 2 [Option ID = 1522]
3. 3 [Option ID = 1523]
4. 4 [Option ID = 1524]

82)
Which of the following is the correct sequence in the development of geographic thought?

(A) Greeks. Roman. Arabs, Dark Ages

(B) Greeks. Roman. Dark Ages. Arabs



(C) Roman, Greeks. Arabs, Dark Ages
(D) Arabs, Greeks. Roman, Dark Ages

(E) Greeks, Dark ages. Roman, Arabs

Choose the correct answer from the options given below :

1 @
2 @
@  (©
4 (B

fAafafiga d | vrierss faari & fawm § Frefafaa & w2 59 ®F =5 27
A) I, T, IE, SFUER
(B) i, I, STREEF, 04
(C) T, i, 3WE, ATHRG
(D)  3wa, dieh, 94, HTHR 0

(E) e, oI 0, {94 30

49 feu o fawegi § 9 gd 3 = 999 difao

1 ®
2 @
@ (©
4 (B

[Question ID = 382][Question Description = Q82_Geog_SH1_Set1_A]
1. 1 [Option ID = 1525]
2. 2 [Option ID = 1526]
3. 3 [Option ID = 1527]
4. 4 [Option ID = 1528]

83) Arrange the following states in ascending order on the basis of percentage of tribal
population (2011) :

(A) Madhya Pradesh

(B) Maharashtra

(C) Rajasthan

(D Meghalaya

Choose the correct answer from the options given below :

(1 A. B (). D)
2  (©). D). ®). @&
3  (B).(C). A). D)

4 (D). @A) 3. ©)



faafafiga == i ST S3EEn (2011) < 9f99d & 309R W AWE #0 ° saafen 9

(A)  meryew
(B) HeTWg
(€ T
(D)  HETEE

I fev o famedi § 9wl 3 @ 999 Sifao

(1) (A).B.(C). D

2 (C). D). B). A

(3)  (B). (). A). D

4 (D). (A). ®B)(©)
[Question ID = 383][Question Description = Q83_Geog_SH1_Set1_A]
1 [Option ID = 1529]
2 [Option ID = 1530]

3 [Option ID = 1531]
4 [Option ID = 1532]

A W N -

84)
Arrange the following in a spatial order from equator :

(A) Northeast trades
(B) Horse latitudes
(C) Doldrum

(D)  Westerlies

Choose the correct answer from the options given below :

(1 (©).@A). B). D)
2  (B).(C). D). @A)
3 @A). (1. (0. D)

@ D). @A).0.>B
freaferfiad 1 Yaea T | 39 w2rfHe 0 sgafem +i
(&) I qd AT Yo

(B)  7d Ha

(C) =lkigH

D) Al e

4 few o fawedi 0 | | 3w %1 w94 Fifau



(1) (C). (A). (B). (D)

(2) (B). (C). (D). (A)

(3) (A). (B). (C). (D)

(4) (D). (A), (C). (B)
[Question ID = 384][Question Description = Q84_Geog_SH1_Set1_A]
1 [Option ID = 1533]
. 2 [Option ID = 1534]

3 [Option ID = 1535]
4 [Option ID = 1536]

A wWw N =

85)
Which one of the following is the correct sequence of oceanic currents of Northern Pacific

Ocean

(A) West wind drift
(B) North Equatorial current
(C) Kuroshio eurrent

(D) California current

Choose the correct answer from the options given below :

(1 A. 3. (). D)
(2)  (0). D). (B). &)
3y (B () A D)

@ (D). (A). [B.(©

FAdl wEIE HEEPE U JYg awisi & |68l #n fefafad 9 9 eh-m a2y

(A)  9fvgefi yaq HvarE

(B) I feyadia gm
(C)  FHifor gm
(D)  hferwifan am

I feu o faweqi 4 8 9 3 @ 999 Fifsu .

1 A). 3. ©). D
2 (©). D). ®B). &)
3 (B).(C). (A). D)

4 (D). (A). ®B).(©)

[Question ID = 385][Question Description = Q85_Geog_SH1_Set1_A]
1 [Option ID = 1537]
2 [Option ID = 1538]
3 [Option ID = 1539]
4 [Option ID = 1540]

AW N =



86)

Given below are two statements : One 1s labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A): At greater ocean depths: water moves extremely slow and maintains a
uniform low temperature.

Reaszons (R) : The oceanic surface returns heat and water to the lower atmosphere.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2 Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3 (A) 1= correct but (R) 1s not correct

(4 (A) 13 not correct but (R) is correct

H= €1 %A fqu A @ ;v sifuehe (Assertion (A)) & ¥4 H faifigd 2 a1 g8 36% &HH (Reasons

(R) & =9 4 :

Al (A) - gz 61 sifae wed wogrl e il afd @ @ 2 s weE e arge sEn

T 2l

F1 (R) : oA was o 30 g 6 Freel arpee 6 oaes st gl 2)

IR h2H < et O, A9 fau e fawedi O 4@ wew IR I &1 = il

(1)
(2)
(3)

4

(A) 3 (R) @F1 571 2 311 (R), (A) I 571 =are 2

(A) 3 (R) 2H1 HEl 2, S (R), (&) F1 Gl sqre =4 2
(&) wdl 2, SfF (R) W 741 2

(A) & 7 2, wfe R) 7 2

[Question ID = 386][Question Description = Q86_Geog_SH1_Set1_A]
1. 1 [Option ID = 1541]
2. 2 [Option ID = 1542]
3. 3 [Option ID = 1543]
4. 4 [Option ID = 1544]

87)

Given below are two statements : One 1s labelled as Ascertain A and the other 1s labelled as

Reason R.

Assertion (A):  Value system is a commonly held set of beliefs, understandings and

controls, that unite members of a culture group.

Reasons (R) : Polytheism adheres to belief in many religious beliefs.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)



(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) is true but (R) is not false

(4) (A) is false but (R) is true

= 2w feu o 2 vk wfuswed (Assertion (A) % 9 © fafEm 2 @1 g9 356 #RV (Reasons

R)) % EG T :

Afimwem (&) ;. goa vgfa favard, #semyfe sin fem w0 9z 9w wgz 2 S fed ansfas
Tz & HeEl & U WA 919 2|

F (R) : ‘HEgddre’ H @R e anfde s § favam wEa d)

IYIE HH o el °, Hi= fgu o fasedi 4 5 qay 39y I &1 994 Fifau

(1) (A 3 (R) EF A F 3 R), (A) F HE owen 2

@ () 3 @) 2 g E, AfE R), Q) F g sren 796 2

(3) (A) 5 2, oifhd (R) 3199 2

4 (A F7EA 2, e (R) 5 2

[Question ID = 387][Question Description = Q87_Geog_SH1_Set1_A]
1. 1 [Option ID = 1545]
2. 2 [Option ID = 1546]
3. 3 [Option ID = 1547]
4. 4 [Option ID = 1548]

88)
Given below are two statements :

Statement I :  Photographs are originally produced in analogue form.

Statement IT :  Image 1s produced in digital form.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is incorrect

(4 Statement I is incorrect but Statement I is correct
EIERAC ORI
FHYH I:  HRETE ged: UAEN €9 § d9R 2 8

HYA II: =09 fesfies =9 4 a9 2 21

I F2H el °, 49 fou o fawedi 4 | wey 39w I % 95 difw



(1) &9 I 3R IS a4l 8
(2) YA 130 I EHl Ted &
(3)  H¥A 14 2, o Fea I 7erd 2

(4)  ®Y3 7o B, oifehd 94 1981 2

[Question ID = 388][Question Description = Q88_Geog_SH1_Set1_A]
1. 1 [Option ID = 1549]
2. 2 [Option ID = 1550]
3. 3 [Option ID = 1551]
4. 4 [Option ID = 1552]

89)
Given below are two statements :

Statement I :  Highest source of marine pollution is shipping.

Statement II : The South-East Asia has highest percentage of endangered coral reefs

by marine pollution.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement IT 1s false

(1) Statement I 1s false but Statement II is true
i< €1 oA feu o E -

FeH [:  HYd W &1 I=AY |A AEad 2l

FeH I1: e g ufsrn O H98l wguo gR0 HeherTs e itagi w1 I=an giaed 2|
I F2H & Al H, A= fou o fawedi 4 § w=d 39y I &1 9e i

(1) 24 3R M eH 85 2

(2 @A I 3R I EH e 2

(3)  wYA Iuem 2, offea suq 11 3100 2

(4) &Y I 39 2, dfda o 119 2
[Question ID = 389][Question Description = Q89_Geog_SH1_Set1_A]
1. 1 [Option ID = 1553]
2. 2 [Option ID = 1554]

3. 3 [Option ID = 1555]
4. 4 [Option ID = 1556]

90)



Given below are two statements : One is labelled as Ascertain A and the other is labelled as

Reason R.

Assertion (A) : Prices and demand of real estate Increases as distance towards CBD
reduces

Reasons (R) : Central Business District (CBD) of a city has high concentration of retail

store offices and cultural and recreation activities.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1= not correct but (R) 1s correct

4= @ #eA for o 7 ;s AfuEed (Assertion (A)) % ®9 § fofad 2 a1 ¢80 36+ FFU (Reasons

R) & =9 9§ :

sifirReA (A) et #22 &l Fimd 3R 0F Fedt 2 SE-oH = &l 2 F avs gl wed 2

AU (R) : UF WA H ha Hauide g3 (fifdl) gen wem wEierE i arafas s
w6 At &1 3= Fdgm 2|

I FUH * Aot H, 919 fou o fagedi 4 4 w98 39w 3w % 93 il

(1)
(2)
(3)

(4)

@) 3 (R) 1w F 3 (R), (&) F W e @

(&) 3 (R) 21 w2 2, @A (R), () 1 &7 samen 74 2
(A) wél 2, el (R) |él 74 2

(A) w& 78 7, wifed (R) 94 2

[Question ID = 390][Question Description = Q90_Geog_SH1_Set1_A]
1. 1 [Option ID = 1557]
2. 2 [Option ID = 1558]
3. 3 [Option ID = 1559]
4. 4 [Option ID = 1560]

Topic:-

1)

Geog_SH1_Set1_B

S.No. Temperature/°C Numbers of stations

1 0-10 1
2 10-20 2
3 20-30 3
4 30-40 4
5 40 -50 5
6 50 - 60 4
1 60 — 70 3
8 70— 80 2



9 80-90 1

Answer the following questions on the basis of above table

(7H.) gl I

:
%

0-10
10-20
20-30
30 —-40
40 - 50
50 — 60
60— 70

Bo o  OT W L0 bD =

70-80

L e = & O s W D =

80-90

-

feu o wwHi & I Iwlw wwoft & snaw o )

What percent of stations recorded temperature between 30°C to 70°C?

1 40 (2 54
(3) 62 4) 64

fera wfdera =gl W ae[ 30°C & 70°C HFeigq foan e
(1) 40 (2 54
(3) 62 (4) 64

[Question ID = 391][Question Description = Q91_Geog_SH1_Set1_B]
1. 1 [Option ID = 1561]
2. 2 [Option ID = 1562]
3. 3 [Option ID = 1563]
4. 4 [Option ID = 1564]

2) S.No. Temperature/°C Numbers of stations

1 0-10 1
10-20
20-30
30-40
40 - 50
50 -60
60 — 70
70-80

we 0 - @ v s L M
[ = BN < EE" S o | S - S of < N 8

80-90

Answer the following questions on the basis of above table

. @ AMYE (°H.) gl F HEn

1 0-10 1
2 10-20 2
3 20-30 3

A 9N AN A



- o et .

5 40 - 50 5
6 50 - 60 4
7 60— 70 3
8 70-80 2
9 80-90 1

fau 0 w9l % I Iug wroft  snew W )

The number of stations that recorded temperature less than 40°C :

®»n 3 @ 9
3 10 @ 5

40° |, ¥ Y AHH oG F 916l Fgl Hl HEA

(1) 3 @ 9
(3) 10 4 5

[Question ID = 392][Question Description = Q92_Geog_SH1_Set1_B]
1. 1 [Option ID = 1565]
2. 2 [Option ID = 1566]
3. 3 [Option ID = 1567]
4. 4 [Option ID = 1568]

3) S.No. Temperature/°C Numbers of stations
1 0-10 1
2 10-20 2
3 20-30 3
4 30—-40 4
5 4050 5
6 50— 60 4
T 60— 70 3
8 70— 80 2
9 80-90 1

Answer the following questions on the basis of above table

&. HE A99E (%H.) gl <l HE

1 0-10 1
2 10-20 2
3 20-30 3
4 30-40 4
5 40 - 50 5
6 50 — 60 4
7 60— 70 3
8 70-80 2
9 80-90 1

fau o woi % I Iwdw |woft F snewr w Gty

The average temperature in the region is :



(1) 40°C (2) 45°C
(3) 50°C (4) 55°C

&4 &l 3THA d199T 2

(1) 40°C (2) d45°C
(3  50°C @) 55°C

[Question ID = 393][Question Description = Q93_Geog_SH1_Set1_B]
1. 1 [Option ID = 1569]
2. 2 [Option ID = 1570]
3. 3 [Option ID = 1571]
4. 4 [Option ID = 1572]

4) S.No. Temperature/°C Numbers of stations
1 0-10 1
2 10-20 2
3 20-30 3
4 30—-40 4
5 40-50 5
6 50— 60 4
T 60— 70 3
8 70— 80 2
9 80-90 1

Answer the following questions on the basis of above table

(7H.) gl I

:
%

0-10
10-20
20-30
30 —-40
40 - 50
50 — 60
60— 70

Bo o  OT W L0 bD =

70-80

L e = & O s W D =

80-90

-

feu o wwHi & I Iwlw wwoft & snaw o )

Which one of the following is the median of the above data?

() 45°C (2 35°C
(3 55°C 4) 40°C

39w AiFSl 61 miferd wia-H 32
(1) 45°C (2) 35°C
(3) 25°C (4) 40°C

[Question ID = 394][Question Description = Q94_Geog_SH1_Set1_B]
1. 1 [Option ID = 1573]
2. 2 [Option ID = 1574]
3. 3 [Option ID = 1575]



4. 4 [Option ID = 1576]

3)

&, I AMUE (°H.) =l dl g

few a0 gwdi %z awfe wrofi % smean 9 dfau)

S.No. Temperature/°C Numbers of stations

1

w0 ~1 &y Ut e W N

0-10
10-20
20-30
30-40
40 -50
50 - 60
60— 70
70-80
80-90

1

(et .~ L~ = O SN o | S~ S of - N 5

Answer the following questions on the basis of above table

[}

e e = 4 O = W

The Third Quartile (Qz) of the distribution is :

1)
(3)

faam &1 g =qd* (Qs) 2

1)
(3)

0-10
10-20
20-30
30-40
40 - 50
50— 60
60 — 70
70-380
80-90

45°C
45.5°C

45°C
45.5°C

ot

o e L~ LA - N

(2)
(4

(2)
4

49.375°C
59.375°C

49.375°C
59.375°C

[Question ID = 395][Question Description = Q95_Geog_SH1_Set1_B]
1. 1 [Option ID = 1577]
2. 2 [Option ID = 1578]
3. 3 [Option ID = 1579]
4. 4 [Option ID = 1580]

Topic:- Geog_SH1_Set1_C

1)

Geography as a discipline i1s focused on understanding the relationship between Man and
Nature. It is built on experiences of successive generations. The history of geography is
basically concerned with the development of human consciousness about the possibilities and
limitations that nature offers for human growth. The word geography was first used by the
Greek scholar Eratosthenes in the third century. Hartshorne said that Geography provides
rational description of the earths surface above and below depending on the progress in
technology. The study of man 1s the realm of humanities, where as science focused on the

study of nature. Geography studies them simultaneously.



However geography as a university level discipline started only in the ninetenth century.
Humboldt and Ritter demonstrated the usefulness of Geography as an universal science.
After this period many scholars like Ratzel and Richtofen in Germany, Blache and Reclus in
France projected it as an integrated study. Man. Nature relationship, hormony with nature
led to concepts of Determination and peossibilism. however Kant tried to address this
confusion to a certain extent. With the emergence of different schools of thought Dualism and
Dichotomies in Geography like general versus regional — physical versus human — Historical
versus contemporary — Nodal versus regional concepts developed:; and prevailed. The advent
of quantitative revolution had further diversified the discipline. Paradigm. systems approach
and models in geography became significant aspects of modern geographic thought. Paradigm
proposed by Kuhn had references on areal differentiation, exceptionalism, spatial analysis.
Models in Geography made significant progress. Modern Themes in Geographic thought like

positivism, pragmatism, functionalism etc work introduced.

TereTorfam T & steme W TeE W T

vF fav % =9 § yie # Fpfeg 79 i v F o= % gedi H oanmn 2 7 e e o
FIGET F ATGE T S 2| IS F 3GEE F GA Tad W GG =G0 F G9FE ° 2 HEE e e &
steifeeHTs 9 fimi waws § 1) 7FEE F FUAEAR SEEE f Wid F A6 W OPTE -9 # SR
47 = F1 T AU TEH HA 2| TR U S AFGE S9E 99 S5991 TS W Hid #d 8, g

AT AT T3 T % AT T A B | P Sl A -E A A 2

FIATF e F EvatmertE seEe Sl w6 § A A T g FEesr on few 7 A
fas % =9 4 et 1 s g FisE Fe oA s FgE A, 90 T 8 e #@n e wi
i B Al ST e A, 36 UhiG 9955 % 50 ° A (1| S -0 56 3R 9 F ay gg=
4 frr=mam oin araEAER i AR B | wEiE #2436 99 F PP 5 9% @ w0 w6
T | fafie femaet F soa @ e § taan o foase s e SE wee e A,
i T A, CORTEE A G, A5 W AR Fadnem GG ST T 72 | S
Fila & AV W 3@ A w1 AR faww gan| ulaam, Feem ugla o biteE wiee sngtee vt
fo=m = Aecagl Tee W U FEd oW T UaAE 0 & e, aaaterar 3t w2t S
F wEd o) WrTifE Hisal ° #TH WE g5 Wi AR § SesEn, SEinhEn i e S
S Tt w1 =

Who were the first to use the word Geography?

(1) Arabs
(2) Roman
(3) Greeks
(4) Chinese

Tl sree &1 wam g9H 9B fohaen gr T e

(1)  3wE
(2) T
(3) A
4 =

[Question ID = 396][Question Description = Q96_Geog_SH1_Set1_C]

A wWN =

2)

1 [Option ID = 1581]
2 [Option ID = 1582]
3 [Option ID = 1583]
4 [Option ID = 1584]

Geography as a discipline is focused on understanding the relationship between Man and
Nature. It 1s built on experiences of successive generations. The history of geography is



basically concerned with the development of human consciousness about the possibihities and
limitations that nature offers for human growth. The word geography was first used by the
Greek scholar Eratosthenes in the third century. Hartshorne said that Geography provides
rational description of the earths surface above and below depending on the prosress in
technology. The study of man is the realm of humanities, where as science focused on the
study of nature. Geography studies them simultaneously.

However geography as a university level discipline started only in the ninetenth century.
Humboldt and Ritter demonstrated the usefulness of Geography as an universal sclence.
After this period many scholars like Ratzel and Richtofen in Germany. Blache and Reclus in
France projected it as an integrated study. Man. Nature relationship, hormony with nature
led to concepts of Determination and possibilism, however Kant tried to address this
confusion to a certain extent. With the emergence of different schools of thought Dualism and
Dichotomies in Geography like general versus regional — physical versus human — Historical
versus contemporary — Nodal versus regional concepts developed; and prevailed. The advent
of quantitative revolution had further diversified the discipline. Paradigm. systems approach
and models in geography became significant aspects of modern geographic thought. Paradigm
proposed by Kuhn had references on areal differentiation, exceptionalism, spatial analysis.
Models in Geography made significant progress. Modern Themes in Geographic thought like
positivism, pragmatism. functionalism ete work introduced.

TereTerfiz TrrTor o SATer o Tee T T R

F {999 F =0 5 Pl F1 Fpfeg 59 AR THE & A= F w@ag w ommen 2| 97 w9l @ AR
FA9AT * TR T S 2| W % SIaEE % gel G99 36 6 o 6 awE 3 2 en aee wea w
StzifeeTs A diEd wams 3 | TR F BEEET S fi WG F AEE WO -6 % S
At = F1 qHETE A TEE A 2| TR U R gEiEE GaE S0 S5 5 W HGg wd 8, gl
AT TTFTTF 95 T F FEIEH T Fiod w1 2| P SE 1 WE-T S5g9 Fa 2

TAF P F HvaEeTiE s =iud @9 § S A TR gell weese o frim 7 Afvaw
fasm = =0 d yie 1 st fag F) 5w w F A % AgE A, 3m S 8 e i foEre el
7 B ST A A A, $H UhIhG A9EE % B9 H WA (A1 B -0 56 31 T & Ay qeeE
o THv=mar 3R FraEEs F sEann s S 5| wiE i 7 T 96 OFS W aF A
T | fatys e # g3 2 gne § oA R foarsEl # aen ge; SE g s e,
i s T, UREE 59 THAmEs, Asd s G5E aEgnn R 5 T=es 5 ) g
Fia F A0E ¥ 39 I = i faen gen ufoom, B ugh @R dimies oiee sngEE dmies
= % HEeqUl UEe] S | HEA G W UiaaE J afi fEadiee, Avatieear s st e
% Ted | Hifers wisen o wTR WG ggl Wit faEn 9 weawan, switEEe s wwEas S
SAEHF Tl = @ T

The usefulness of Geography as an Universal Science was demonstrated by

(1) Eratosthenes and Strabo
(2) Hecataeus and Hipparchus
(3) Humboldt and Ritter

(4) Amristotle and Eratosthenes

Afgass fasta & =9 1 spirer <1 syt g fagm g fag 6 mde
() st st 2

(2)  wepfemm s faudm

(3) grlege 3 friex

(4) e 3 e

[Question ID = 397][Question Description = Q97_Geog_SH1_Set1_C]
1. 1 [Option ID = 1585]



2. 2 [Option ID = 1586]
3. 3 [Option ID = 1587]
4. 4 [Option ID = 1588]

3)

Geography as a discipline is focused on understanding the relationship between Man and
Nature. It is built on experiences of successive generations. The history of geography is
basically concerned with the development of human consciousness about the possibilities and
limitations that nature offers for human growth. The word geography was first used by the
Greek scholar Eratosthenes in the third century. Hartshorne said that Geography provides
rational description of the earths surface above and below depending on the prosress in
technology. The study of man is the realm of humanities, where as science focused on the
study of nature. Geography studies them simultaneously.

However geography as a university level discipline started only in the ninetenth century.
Humboldt and Ritter demonstrated the usefulness of Geography as an universal sclence.
After this period many scholars like Ratzel and Richtofen in Germany. Blache and Reclus in
France projected it as an integrated study. Man. Nature relationship, hormony with nature
led to concepts of Determination and possibilism, however Kant tried to address this
confusion to a certain extent. With the emergence of different schools of thought Dualism and
Dichotomies in Geography like general versus regional — physical versus human — Historical
versus contemporary — Nodal versus regional concepts developed; and prevailed. The advent
of quantitative revolution had further diversified the discipline. Paradigm. systems approach
and models in geography became significant aspects of modern geographic thought. Paradigm
proposed by Kuhn had references on areal differentiation, exceptionalism, spatial analysis.
Models in Geography made significant progress. Modern Themes in Geographic thought like
positivism, pragmatism. functionalism ete work introduced.

TereTerfiz TrrTor o SATer o Tee T T R

F {999 F =0 5 Pl F1 Fpfeg 59 AR THE & A= F w@ag w ommen 2| 97 w9l @ AR
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The concepts of Determinism and positivism emerged as a result of integrated Hinduism by

(1) Greek and Roman
(2) Greek and Arabs

(3) Roman and Arab

(4) German and French

foaarg i qearaATare 61 sauronsii & fawm fhs vdiea sere &1 afom o7
(1)  FAE 3 e

(2 A 3 awa

(8)  THA 30 3FE

(4) U9 30w



[Question ID = 398][Question Description = Q98_Geog_SH1_Set1_C]

AN wnN -

4)

1 [Option ID = 1589]
2 [Option ID = 1590]
3 [Option ID = 1591]
4 [Option ID = 1592]

Geography as a discipline is focused on understanding the relationship between Man and
Nature. It 1= built on experiences of successive generations. The history of geography is
basically concerned with the development of human consciousness about the possibilities and
Iimitations that nature offers for human growth. The word geography was first used by the
Greek scholar Eratosthenes in the third century. Hartshorne said that Geography provides
rational description of the earths surface above and below depending on the progress in
technology. The study of man 1s the realm of humanities, where as science focused on the
study of nature. Geography studies them simultaneously.

However geography as a university level discipline started only in the ninetenth century.
Humboldt and Ritter demonstrated the usefulness of Geography as an universal science.
After this period many scholars like Ratzel and Richtofen in Germany, Blache and Reclus in
France projected it as an integrated study. Man. Nature relationship, hormony with nature
led to concepts of Determination and peossibilism. however Kant tried to address this
confusion to a certain extent. With the emergence of different schools of thought Dualism and
Dichotomies in Geography like general versus regional — physical versus human — Historical
versus contemporary — Nodal versus regional concepts developed:; and prevailed. The advent
of quantitative revolution had further diversified the discipline. Paradigm. systems approach
and models in geography became significant aspects of modern geographic thought. Paradigm
proposed by Kuhn had references on areal differentiation, exceptionalism, spatial analysis.
Models in Geography made significant progress. Modern Themes in Geographic thought like
positivism, pragmatism, functionalism etc work introduced.

TereTorfam T & steme W TeE W T
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47 = F1 T AU TEH HA 2| TR U S AFGE S9E 99 S5991 TS W Hid #d 8, g
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Which major development in Geographic studies during the recent period changed the
direction in its growth?

(1) Paradigm (2) System Approach
(3) Quantitative Revolution (4) Models

aduF § Wiiifers sera & &9 O g3 $F vgE faem 2 faem sadhi foon age 617

(1) i 2 frm Tgh
(3)  HrEREF Hifd (4) Hiea

[Question ID = 399][Question Description = Q99_Geog_SH1_Set1_C]
1. 1 [Option ID = 1593]
2. 2 [Option ID = 1594]



3. 3 [Option ID = 1595]
4. 4 [Option ID = 1596]

5)

Geography as a discipline is focused on understanding the relationship between Man and
Nature. It 1= built on experiences of successive generations. The history of geography is
basically concerned with the development of human consciousness about the possibilities and
Iimitations that nature offers for human growth. The word geography was first used by the
Greek scholar Eratosthenes in the third century. Hartshorne said that Geography provides
rational description of the earths surface above and below depending on the progress in
technology. The study of man 1s the realm of humanities, where as science focused on the
study of nature. Geography studies them simultaneously.

However geography as a university level discipline started only in the ninetenth century.
Humboldt and Ritter demonstrated the usefulness of Geography as an universal science.
After this period many scholars like Ratzel and Richtofen in Germany, Blache and Reclus in
France projected it as an integrated study. Man. Nature relationship, hormony with nature
led to concepts of Determination and peossibilism. however Kant tried to address this
confusion to a certain extent. With the emergence of different schools of thought Dualism and
Dichotomies in Geography like general versus regional — physical versus human — Historical
versus contemporary — Nodal versus regional concepts developed:; and prevailed. The advent
of quantitative revolution had further diversified the discipline. Paradigm. systems approach
and models in geography became significant aspects of modern geographic thought. Paradigm
proposed by Kuhn had references on areal differentiation, exceptionalism, spatial analysis.
Models in Geography made significant progress. Modern Themes in Geographic thought like
positivism, pragmatism, functionalism etc work introduced.

TereTorfam T & steme W TeE W T

U fau % B9 F W 1 Hoieg G 30 GHG 6 S % Hedl H Aasen 2| 78 e did @ did
FIYAT F ATEN 9 S 2| Y 6 SiaE $ g Gy 39 0EE =0 6 [ ° 2 e e 9eE F
steifeeHTs 9 fimi waws § 1) 7FEE F FUAEAR SEEE f Wid F A6 W OPTE -9 # SR
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FATE YT T AvaEereie SorA mEl wh § A # TR g4 FEese iR i 7 afaw
T = =0 | e 1 s g 58 Fe E 9 #E EgE A, 6 S 8 e iR e s
T B Al ST e A, 36 UhiEG 9955 F =0 ° T 1| S -0 56 iR T F 9y gee
4 frr=mam oin araEAER i AR B | wEiE #2436 99 F PP 5 9% @ w0 w6
T | fafie femaet F soa @ e § taan o foase s e SE wee e A,
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Fiid & AT ¥ 38 fa9m F oi fER ganl wianE, FEm ugl iR gt giee sngHE diies
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F wEd o) WrTifE Hisal ° #TH WE g5 Wi AR § SesEn, SEinhEn i e S

Which of the following is the recent development in Geographic studies?

(1) Regional geography (2) Astronomy

(3) Determination (4) Posifivism

Frfafaa § & drmfas serm % &3 4 2 9 20aen &E |1 991 fasm s2arm ?
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[Question ID = 400][Question Description = Q100_Geog_SH1_Set1_C]
1 [Option ID = 1597]
2 [Option ID = 1598]
3 [Option ID = 1599]
4 [Option ID = 1600]

A w N =

Topic:- GP13_A



1) Consider the following table which contains number of corona test conducted in each hospital
within bracket and number of positive cases In a city on a particular day. Based on the data

in the table. answer question.

e o v A gisifea ge w swfE $i gemn w1 i T 2 | Aiersd 3 SET UnH % A W

Hospital Hospital | Hospital | Hospital | Hospital
A B C D
City (100) (50) (100) (50)
City 1 30 15 35 10
City 2 35 10 30 10
City 3 15 5 15 3
City 4 10 5 5 15

FE AT QAT | A GATA AT AT
A B 0 D
— (100) | (50) (100) (50)
e 1 30 15 35 10
i 2 35 10 30 10
& 3 15 5 15 5
i 4 10 5 5 15

Which city reported highest number of positive cases?

(1)
(3)

City 2
City 4

(2)
(4)

City 1
City 3

re o = ifsfea sra =fF i afasas e Fi o 5= 7

o~

(1 T2 2 =1
(3 T4 (4 =73

[Question ID = 4538][Question Description = Q01_GP_29NOV_S1_SHAAN]

1. 1 [Option ID = 18152]
2. 2 [Option ID = 18153]
3. 3 [Option ID = 18154]
4. 4 [Option ID = 18155]

2) Consider the following table which contains number of corona test conducted in each hospital

within bracket and number of positive cases In a city on a particular day. Based on the data

in the table. answer question.

Hospital Hospital | Hospital | Hospital | Hospital
A B C D
City (100) (50) (100) (50)
City 1 30 15 35 10
City 2 35 10 30 10
City 3 15 5 15 5
Citv 4 10 5 A 15




FretaiEs Ao W EER i T 900F AR 5 R TR A A F R EE e S e

e 4 wer § # usliea ww v snfE i S w1 g9 T 2 | anes § e ueE % EE W

HIEATA FHAGTA | AT HETATA AT
A B C D
- (100) | (300 | (100 (50)
=1 30 15 35 10
e 2 35 10 30 10
et 3 15 5 15 5
et 4 10 5 5 15
What is the percentage of negative cases?
(1) 16.90 2y 16.10
(3) 15.66 4) 16.67
(1) 16.90 (2) 16.10
(3) 15.66 (4) 16.67

[Question ID = 4539][Question Description = Q02_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18156]
2. 2 [Option ID = 18157]
3. 3 [Option ID = 18158]
4. 4 [Option ID = 18159]

3) Consider the following table which contains number of corona test conducted in each hospital
within bracket and number of positive cases In a city on a particular dayv. Based on the data

in the table. answer question.

TFretaiEs Ao W EER i T 9o s § A T A A F R EE e 3 e

e 4 wer § ° usliea ww qu snfE i S w1 w2 | anes § e ueE % AEE W

Hospital Hospital | Hospital | Hospital | Hospital
A B C D
City (100) (50) (100) (50
City 1 30 15 35 10
City 2 35 10 30 10
City 3 15 5 15 5
City 4 10 5 5] 15

FHETATA HTATA | AT TA HIAATA HEATA
A B o, D
- (100) | (50) (100) (50)
a1 30 15 35 10
& 2 35 10 30 10
il e o [N =




cl o id uJ 1 o

a4 10

(1]
(7]
—
it

What 1s the ratio of positive cases in City 1 and City 37
(1) (2)
(3 9:5 4 11:4

9:4 6:5

fet 1 =77 fadi 3 o difsfea am 7o =fF =1 oo =0 27

(1) 9:4 6:5

(3)

(2)

9:5 4 11:4

[Question ID = 4540][Question Description = Q03_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18160]
2. 2 [Option ID = 18161]
3. 3 [Option ID = 18162]
4. 4 [Option ID = 18163]

4)  Consider the following table which contains number of corona test conducted in each hospital
within bracket and number of positive cases In a city on a particular dav. Based on the data

in the table. answer question.

Hospital Hospital | Hospital | Hospital | Hospital
A B C D
City (1009 (50) (100) (50)
City 1 30 15 35 10
City 2 35 10 30 10
City 3 15 ] 15 3
City 4 10 5] 5] 15

FHefEhEs a7 [@=ER Hie (990 90 Jae | Fl e FEE 9 R FEF F UiE s A

e ® w=r § | qiSifea e T sufE F e F1 9 T | Ao H ST Ted # AE W

AT FAAr | A AT AT
A B C D
et (100) | (50) (100) (50)
21 30 15 35 10
e 2 35 10 30 10
@ 3 15 5 15 5
et 4 10 5 5 15
What is the percentage of positive cases in City 4?
(1) 16 (2) 13
(3) 14 4 15
81 4 9 Otz a7 Sy 5 gieed 99 B
(1) 16 2 13
(3) 14 4) 15



[Question ID = 4541][Question Description = Q04_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18164]
2. 2 [Option ID = 18165]
3. 3 [Option ID = 18166]
4. 4 [Option ID = 18167]

5) Consider the following table which contains number of corona test conducted in each hospital
within bracket and number of positive cases In a city on a particular day. Based on the data

in the table. answer question.

Hospital Hospital | Hospital | Hospital | Hospital
A B C D
City (1009 (50) (100 (50)
City 1 30 15 35 10
City 2 35 10 30 10
City 3 15 5 15 3
City 4 10 5 5 15

ety A W fT=w it (598 900 smrae § #1 T FEE S F wEE F e o e

e & w=r § 4 diSfifea we o s=fE Fi O F SuiE T 2 | anerd H SEE TEd AW W

FE AT QAT | A ATA HAATA HEATA
A B 0 D
. (100) | (50) (100) (50)
e 1 30 15 35 10
i 2 35 10 30 10
=@ 3 15 5 15 5
i 4 10 5 5 15

Which hospital reported maximum number of positive cases?
(1) (2)
(3) 4

Hospital A
Hospital B

Hospital D
Hospital C

! O, W A G o

8 10T | STasan =a9aaT & gifated 910 o #1109 Hei f

1) I A 2) EEE D

(3) A B (4) @A C

[Question ID = 4542][Question Description = Q05_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18168]
2. 2 [Option ID = 18169]
3. 3 [Option ID = 18170]
4. 4 [Option ID = 18171]

Topic:- GP13_B

D The level of teaching which demands the use of higher order thinking skills is :

(1 (2)
(3 @

Memory level teaching Understanding level teaching

Reflective level teaching Creativity level teaching



(1) T =w fa (2) =g = e
(3)  Tomers = e (4) TEFITEEERAT T fE

[Question ID = 4543][Question Description = Q06_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18172]
2. 2 [Option ID = 18173]
3. 3 [Option ID = 18174]
4. 4 [Option ID = 18175]

2 : : e
) Which of the following are NOT the characteristics of adult learners?

(A) They are matured learners

(B) They can act rationally

(C)  They search for a reasonably stable identity
(D) They can make balanced choice

(E) Often question contemporary values

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (A)and (D) only

(3) (C) and (E) only (4) (C)and (D) only
Freferfiaa 9 @ == F=es i i e 975 2 7

(A) = aiaes foEne e 2 |
(B) o Arieheal & FT4 L = 7 |

(C) = 3f=m fom ue=m =@ 7 |

(D)  ° Fedierd == T E |

(E) =5l SHEMEE 9o T U9 3374 7 |

Fr= f2v U ot § @ me| Iuged IR R = i
(1) = (A) 3 (B) (2) = (4) 3 (D)
(3)  FA (C) 3R (E) (4) F= (C) 3R (D)

[Question ID = 4544][Question Description = Q07_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18176]
2. 2 [Option ID = 18177]
3. 3 [Option ID = 18178]
4. 4 [Option ID = 18179]

3)

Match List I with List IT :
LiatI List IT
Factors influencing learning Nlustration
(A) Psychological (I)' Methods of teaching
(B) Socio-Cultural (I) Faculty relationship
(C) Institution (III) Intellizence
(D) Teaching-learning (IV) Family

Choose the correct answer from the options given below :

(1) (A)-D. (B)-(IV). (C)-(1). (D)-(ID)
(2)  (A)-IV), (B)-II). (C)-(D). (D)-(1D)



(3)  (A)-ID. B)-I), (C)-D). (D)-IV)
4  (A)-dD. (B)-(IV). (C)-1D). (D)-(D

g1 % Fve g=-11 =1 e i -

-1 T
(A) T @O ToEw-ugh
(B) HTEITH-HATHOF (II) HFmE-Te
(C) @ (IIT) sitfghar
(D) foraror—srfamm (IV) gfam

Hr fou v famheqi § ° FE 39 F1 99 HIa

KL (A)-(IIT). (B)-(IV). (C)-(I). (D)-(II)
(2) (A)-(IV). (B)-(III). (C)(D). (D)-(II)
(3) (A)-(IT). (B)-(I1I). (C)-(D). (D)-(IV)
(4) (A)-(IIT). (B)-(IV). (C)-(IL). (D)-(I)

[Question ID = 4545][Question Description = Q08_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18180]
2. 2 [Option ID = 18181]
3. 3 [Option ID = 18182]
4. 4 [Option ID = 18183]

4)  The type of evaluation which gives feed-back to students as well as teachers 1s :
(1) Placement evaluation (2) Formative evaluation
(3 Summative evaluation (4) Diagnostic evaluation

He AT 1 ThH A Tt va femn w1 o wiagfe 2 2

(8] T geATEA (2) TEATCHE gEATEA
(3)  TFeHTEE G @) et g

[Question ID = 4546][Question Description = Q09_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18184]
2. 2 [Option ID = 18185]
3. 3 [Option ID = 18186]
4. 4 [Option ID = 18187]

5)

Given below are two statements :

Statement I: The 4 quadrants of SWAYAM are (1) Video lecture (2) specially prepared
reading materials that can be downloaded (3) online discussion forum for
clarifying doubts (4) Time to time assessment by experts.

Statement II: Swayam Prabha is a group of 34 DTH channels denoted to telecast high
quality educational programmes on 24 x 7 basis.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement I are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement IT is true

A= 31 FA ffu T E

FH (): T (WIH.UARLIE.) F 4 =999% 2| (1) 799 =amwEd (2) faow =7 @ F=n $i
Ao Tl T8 sEAeErs o = o9 (3) A aem-fams 99, s a5 TR (4)

g 9T fEREl g Ave

Fo (II) : a0l 34 SI.21.09. =9el %1 UF @95 ® 9 24 x 7 SUN W =4 (oA g9 A0
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TRAHD = AR B0 R0 b

IUE HUA AT °, A & 7wl 8 ¥ wEl 39 w1 = i
(1) =FEIAOEATAE |

(2) v IR I 35 7 |

(3) A I5ea 7, =i e I o|ed 2 |

4) v [ AEca 7, @i e [ a9 2 |

[Question ID = 4547][Question Description = Q10_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18188]
2. 2 [Option ID = 18189]
3. 3 [Option ID = 18190]
4. 4 [Option ID = 18191]

6
) The probability of not accepting the null hypothesis when the alternative hypothesis is
acceptable is called :

(1) Rejection range (2) Demarcation
(3 Normative incidence (4) Power

Fe ARfea WA T 7, P TemeuEl % A B hl TEETeaa) HEe o

(1)  FEmFE wE (2) A
(3) AR "E (4) =fFa

[Question ID = 4548][Question Description = Q11_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18192]
2. 2 [Option ID = 18193]
3. 3 [Option ID = 18194]
4. 4 [Option ID = 18195]

7)
By what name this validity is known for where an assessment of the measurement validity of
a measure that compares 1t to another measure of the same concept that has been generated
from a different method?
(1) Predictive validity (2) Construct validity
3 Concurrent validity (4) Convergent validity

7z dga1 f T B St & T A9 A 9 S9ar 1 e S5kl do] T Tehedd 91 oI A9 F
AT 7 AU A T HA UG ® 39 B A7

(1)  vrIfEas e (2) = AuE
(38)  mmadl duAl (4) At dua

[Question ID = 4549][Question Description = Q12_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18196]
2. 2 [Option ID = 18197]
3. 3 [Option ID = 18198]
4. 4 [Option ID = 18199]

8 ; ;
) Which of the following are sources of verbal data?

(A)  Traffic signals

(B) Semistructured interviews
(C) Narrative interviews

(D) Focus groups

(E) Body language

Choose the correct answer from the options given below :
()  (A).(B). (C)only (2) (B). (C). (D) only
(3) (0. (D). (E) only (4) (A), (D). (E) only



ARSI HH FH IEF o0 F HAd & ¢

(&)
(B)

(©

D)

(E)

AZATER HATERT

L= e s e
.

FE T

T T

4= 20 U e 5 | wE 3 S = i

(1)
(3)

Fa9 (A), (B), () (2) === (B). (O), (D)
#a (C). (D), (E) (4) =a= (A). (D). (E)

[Question ID = 4550][Question Description = Q13_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18200]
2. 2 [Option ID = 18201]
3. 3 [Option ID = 18202]
4. 4 [Option ID = 18203]

9)

Given below are two statements :

Statement I: A Systematic review can be described as a ‘replicable and scientific’ process.

Statement IT: A transparent review may help us in minimizing personal and other biases.

In the light of the above statements, choose the correct answer from the options given below

(1)
(2)
(3)

@

Both Statement I and Statement IT are true

Both Statement I and Statement IT are false

Statement I is true but Statement IT is false

Statement I is false but Statement II is true

A 1 o fag R

o (I): U gogaiead GE & 9w uiaie vd fameees uiw 7

o (1) : e TSl QT Sfoeh U gET YaEl i A ° EHE FEEa H AT E |

TR FU F AA 4, A= {3 fawent § @ w8t 3w = fif

1)

(2

(3)

@

o [ #AR [ 2F |29 7 |
o [ 3 112 59 2 |
w1 Gca 2, =it e 11 3780 2 |

FA [ 57 &, oo Fa9 [ A3 7 |



[Question ID = 4551][Question Description = Q14_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18204]
2. 2 [Option ID = 18205]
3. 3 [Option ID = 18206]
4. 4 [Option ID = 18207]

10)

(A)

®)
©
D)

Match List T with List IT :

ListI List IT

Variables Characteristic features

Independent () Can be used to divide subjects into
specific categories

Dependent (II) Cannot be divided into subparts

Control (ITI) Represents the cause

Discrete (IV) The variable that 1s affected

Choose the correct answer from the options given below :

(1)
2
3
@)

(A)-(D). (B)-(ID). (C)-(I1I). (D)-(IV)
(A)-(1I). (B)-(I1ID). (C)-(IV), (D)-(I)
(4)-(IID). (B)-(IV). (C)-(D), (D)-(II)
(A)-(IV), (B)-(D). (C)-1), (D)-(IIT)

-1 % Ty gi-11 =71 foem Fifse

=1 giI-11
= Ferfere - famrand
(A) T=a= @ oo =1 fafwe w0 ° s F e wEm
P T 2
B) W (D) S99FT H =i A5 A AFAT
(©) = (IIT) = -Feai
D) fafam IV) T =% = TuEE = 2
Hi= f5u o faehewi 9 ® w@E S H =EE i

1) (A-D. (B)-dD), (O)-(1IL). (D)-(IV)
(2) (A, (B)-(IID). (O)-(IV), (D)-(I)
(3)  (A-ID. (B)-IV), (O)-(D), (D)-1)
@ (Q-IV), B)-D),. (C)-(ID). (D)-IID

[Question ID = 4552][Question Description = Q15_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18208]
2. 2 [Option ID = 18209]
3. 3 [Option ID = 18210]
4. 4 [Option ID = 18211]

11)

A student greets his teacher with ‘Good Morning'. Here the channel of communication 1s :

(1)
(3)

The effect (2) The source
The speech (4) The intent

=15 famneff s sremeE v stfares s wiHET | @ AT B | TR 59N w6 A

D e @ =m

(3) EIED

@) A



[Question ID = 4553][Question Description = Q16_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18212]
2. 2 [Option ID = 18213]
3. 3 [Option ID = 18214]
4. 4 [Option ID = 18215]

12 ; - . 2
) The dimensions of classroom communication are :

(A)  Level of obscurity
(B)  Level of Observation
(C) Level of intrusion
(D)  Intentionality

(E) Normative judgement

Choose the correct answer from the options given below :
(1) (A, (B). (C) only (2) (B). (C). (D) only
(3) (). (D). (E) only (4) (B). (D). (E) only

el § AW % AT F
(A)  FEE FER

(B)  FA=AEA B =R
(C)  3Ta =l =1
(D) =

(E) =reh Fom

Jr fau o faedt § @ WA S g

(1) == (A), (B). (O) (2) == (B). (C). (D)
(3) ¥ (C), D). (B) (4) a9 (B), (D). (E)

[Question ID = 4554][Question Description = Q17_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18216]
2. 2 [Option ID = 18217]
3. 3 [Option ID = 18218]
4. 4 [Option ID = 18219]

13) Given below are two statements :

Statement I: Communication 1s viewed as one of the social factors that influence the
society including educational institutions.

Statement II : Communication does not help develop. maintain and change cultural settings
of any society for that matter.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(D Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I 1s incorrect but Statement II 1s correct

= 31 #9a ffu U E

Fo () : =W 3 A AR 4§ UF kB9 H @ G 7 (A THE A SEE #@ed |/
TS 9T 95471 & |

w9 (ID) :  F= ol off o= = farm, seemn R Sopfas =7 | afada 3 52 746 7 |

IPIF FYF F T o, = B T et 4 9 ged 3w 3w e i

e % TS s AR TR kT, A e



ey L L b L L L CL N L |
(2) FE IR D39 T 2 |

(3) FA ITH 2, AR FeA I 7TeE 7 |
(4)  FF 17 7, A FoE a8 7 |

[Question ID = 4555][Question Description = Q18_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18220]
2. 2 [Option ID = 18221]
3. 3 [Option ID = 18222]
4. 4 [Option ID = 18223]

14) o o
The sequence of stages of active listening 1s :

(A) Understanding

(B) Remembering

(C) Responding

(D)  Recelving

(E) Evaluating

Choose the correct answer from the options given below :

(L) (A).®B.(C).(E). D (2) (©). A). (D). (B), (E)
3 (D). A. E).®B.(©C) (4) (B). (C), (E). (D). (&)

4 =

B) TEm

© e

(D)  FmmETm

) T

Jra 7 = foedt 3 @ wE I W =g Fiw

(1) (A, @B). (). (E). (D) (2) (O). @A) (D). B). (E)
(3) (D). A). E). B).(©) 4) (B).(O). (E). (D). A)

[Question ID = 4556][Question Description = Q19_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18224]
2. 2 [Option ID = 18225]
3. 3 [Option ID = 18226]
4. 4 [Option ID = 18227]

15)  Match List T with List I :

List I List IT
Types of speech Objective
(A) After dinner speech (I)  To motivate or persuade
(B) Academic speech (II) Toimpress
(C) Marketing speech (ITT) To amuse not necessarily informative
(D) Political speech (IV) To inform

Choose the correct answer from the options given below :
(1) (A-D. (B)-(IV). (C)-(1I). (D)D)
(2) (A)-(IV), (B)-(D). (C)-(I1D). (D)-(II)

(3)  A-1D). B)-1I), (C)-aAV), (D)-(D
@  (A)-D. (B)-(IV). (O-(D. (D)-dD)

-1 % Ty -1 =1 foem Fifaw

=11 FTII
(A) TEERE 9= & g, faEn @ wme (@)  wfaufE e a1 o5 e
(B) St oy D) waIEE
(C) Tauom =Pl @ Fafg g (IID) HAFSA AT T gaaris 51 SATEyT

o 3
Ir_r ﬁ I



(D) I qTEeT @TV) =g w3
Hra 3 o fawedl § § TF I w999 A

(1) (A-ID. (B)-IV). (C)-aD). (D)-(I)
@  A-IV). B)-(D. (C)-(I1D). (D)-AD)
(3 (A-D). B)-aI). (C)-IV). M)-D
4 (A-IID. (B)-AV). (C)-(D). (D)-dI)

[Question ID = 4557][Question Description = Q20_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18228]
2. 2 [Option ID = 18229]
3. 3 [Option ID = 18230]
4. 4 [Option ID = 18231]

16)  The least number of five digits which is exactly divisible by 12, 15 and 18 1= :
(1) 10020 (2) 10050
(3 10060 (4 10080

ot A i = T 12, 15 3R 18 F [ e #
(1) 10020 (2) 10050
(3) 10060 (4) 10080

[Question ID = 4558][Question Description = Q21_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18232]
2. 2 [Option ID = 18233]
3. 3 [Option ID = 18234]
4. 4 [Option ID = 18235]

17 . . . . .
) Gopal can do a piece of work 1 3 days while Ravi can do the same work in 4 days. The wage

for the full work is Rs. 3500/-. If they both work together to complete the work then find the
earnings of Ravi?

(1) 1300 (2) 1500
(3) 1600 (4) 1650

e o W H 3 feA A wen & 9E T 36 W w4 5 A W wwar 2| Q0 B w0 9
3500/- 2 | 3R o I Toert W9 FH T G & d91 U 1 AT T B

(1) 1300 2 1500
(3) 1600 4) 1650

[Question ID = 4559][Question Description = Q22_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18236]
2. 2 [Option ID = 18237]
3. 3 [Option ID = 18238]
4. 4 [Option ID = 18239]

18) Given below are two statements :

Statement I: Egquilateral triangles and squares are examples of regular polygons.
Statement IT: In isosceles triangles, the angles opposite to the equal sides are equal.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct

Fo (I):  Fg 9 3R 1, 999gs F S5 2 |

%9 (IT) : wmfgang frgs 8, gum e & faufa 4 fom S gae 26 2 |

FHIE HUA F A °, fr= 1w e § @ we suged 9 w0 =9E i



(1) =F9I1aAR M 3A 550 7 |
@ w3 I EE e
(3) =y 15A 7, ot wee I 7Terd 2 |
@) = 17w 7, wte wee ILEE 2 |

[Question ID = 4560][Question Description = Q23_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18240]
2. 2 [Option ID = 18241]
3. 3 [Option ID = 18242]
4. 4 [Option ID = 18243]

19) . . . . . s
‘What 1s the rate of simple interest in a bank if the principal amount of Rs. 5.000.00 becomes
Rs. 10,000.00 in 8 years?
(1) 12.5% (2) 20%
(3) 15% (40 10%

U A% H AR ST i 3 91 2 A ge 94 8 =9 4 5,000 #9F H sigwd 10,000 w9 =1 Sar 2 7
(1) 12.5% (2) 20%
(3)  15% @ 10%

[Question ID = 4561][Question Description = Q24_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18244]
2. 2 [Option ID = 18245]
3. 3 [Option ID = 18246]
4. 4 [Option ID = 18247]

20)  Match List I with List II in order to make correct sentences.
ListI List IT
(A) Fraction equivalent of 128.57% is 9
(nearest) @ 7
(B) If the numerator of a fraction is an 8
inecreased by 20% and its denominator T
1s decreased by 10%., the fraction
becomes % The original fraction is
(C) 1E 1s equal to (III) L
T T
(D) %4—% 1s equal to (IV) %

Choose the correct answer from the options given below :

1)  (A)-AV), B)-@). (C)-aD). (D)-I1D)
(2)  (A)-IV), (B)-(III). (C)-II). (D)-@
(3)  (A)-dD. B)-ID). (C)-IV), D)-D
@) (A-D, B)-IV), (C)-(II). (D)-IIL)

T-1 % Ty gi-11 1 foem Fifsw

EciN TT-I1
(A) 128.57% 1 fAhean firsr Tmges 2 9
@
T
(B) W T fam =1 7= 20% =@En WU AR an 8
=HF = A 10% = = fam g.m
FT 2| g fm 2
15 10
C 1— = L & - —
(©) - F (IIT) =
2 64 - : 4
Z4+— FHWEA T e
D) A . (Iv) =



= 51 o et 9 @ wF S 99 Fitan

1 (A)-IV). B)-(D. (C)-(II). (D)-(IID
@ (A-AV). (B)-(I). (C)-aD). (D)@
(3  (A-IID. (B)-ID. (C)-(IV). (D)-D)
@ (A, B)-IV), (C)-1D). (D)-(1IL)

[Question ID = 4562][Question Description = Q25_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18248]
2. 2 [Option ID = 18249]
3. 3 [Option ID = 18250]
4. 4 [Option ID = 18251]

21 :
) Given below are two statements :

Statement I: Vyaptl (relation of Universal concomitance) expresses the relation between

two individual objects only.

Statement II : Vyapti expresses the relation between the classes of individuals.

In the hight of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement IT is incorrect

(4) Statement I is incorrect but Statement II is correct

FY (I): =t (FEutias geafdar &1 G99) Sdd & Ufhsh aeda1 & 954 Ga9 S S9eaad il 2 |

Foe (II) : =31 H =Afedi % @71 = 759 F9Y F ATAIF a7 = 2 |

SHIE FYT F A A, A9 B3 T Fwedi § ¥ wwg 39w I H 99 HI
(1)  #9a 1 #AR I EE &8 2 |

@ = I3 I EE e

(3)  Fu 15 &, =i e IL7Terd 2 |

@) w9 17 2, i e a8 7 |

[Question ID = 4563][Question Description = Q26_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18252]
2. 2 [Option ID = 18253]
3. 3 [Option ID = 18254]
4. 4 [Option ID = 18255]

22) A series of terms would be in the order of Increasing intension :

(A) When each term in the series (except the first) connotes more attributes than the ones

preceding it.

(B)  When each term in the series (except the first) is more specific than the one preceding



it.

(C)  When each term in the series (except the first) connotes less attributes than the one

preceding it.

(D)  When each term in the series (except the first) is less specific than the one preceding
it.

Choose the correct answer from the options given below :

(1)  (C) and (D) only (2) (C)only

(3) (A) and (B) only (49 (D) only

Sl g2 digdl 58 § gl 1 FEel Fe w27

(A) = FEAT F U UZ (Y9H U F BISHE) AC YHAd] U2 F U Afaw fFeer w5 o
AR

(B) == FE F TedE 9 (YUH U7 F DISH) A JHadl Uz F1 e sAte e whr 2

(C) =4 ¥ F1 Ied+ 72 (Vo 92 = BgH) T UH 92 H {59 F GeEeE 7@ 2 |

(D) = FEen FUEE UE (FIH 9T DeH) T3 IS Go § A fare w5 g |

= foa ™ et O T 3= @ = Fif
(1) === (C) 37 (D) (2) a9 (C)
(3)  ae (A) T (B) @) Fa= (D)

[Question ID = 4564][Question Description = Q27_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18256]
2. 2 [Option ID = 18257]
3. 3 [Option ID = 18258]
4. 4 [Option ID = 18259]

23) “The great cricketer Sudhir says that Medisulpha soaps are good for health. We therefore
must believe that it must be true indeed.”

Whach fallacy 1s committed in the above argument?

(1) Strawman (2) Appeal to unqualified authority

(3) Appeal to ignorance (4) Slippery slope

“mEm e faenst g = wEw 2 6 afsmew wmn ween F 6w 55 2 | sEfoe 21 AW o =i 6
7E T ma Em

S H o S o E =g () i e e

(1) = (s @) g Tt w1 A

(3) A 1 T A (@) oot =i

[Question ID = 4565][Question Description = Q28_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18260]
2. 2 [Option ID = 18261]
3. 3 [Option ID = 18262]
4. 4 [Option ID = 18263]

24 5
) Given below are two statements :

Statement I In Nvava philozsophv. subiect matter of logic 1= mainly thoueht and its verbal



formulation is only a matter of contingency.

Statement IT : Verbal formulation of an argument in Nyaya tradition is only for leading the
other to the conclusion in guestion.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(D Both Statement I and Statement II are correct
(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement IT is correct

i 71 wye g o E

FoA (I): =9 96 ° 7 Fi G5 55 geaa: f=n 2 o 39 wiess a0 Fas st #
=g ;'-:;|

w9 (ID) : =" Waw | i a5 =l e FET shael 3771 =i 5 G HoR a9 TaaE 7 |

I FHE F OAEF °§, 2 B T e | g e 3ugs I F == i

(1)  F9a [ 3 [MaA 981 7 |

2 #FoE IR [ EH 7= 2 |

(3) A IGA 2, wfe e I e 2 |

(4) 2 [7ed 2, A we [AEA 2|

[Question ID = 4566][Question Description = Q29_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18264]
2. 2 [Option ID = 18265]
3. 3 [Option ID = 18266]
4. 4 [Option ID = 18267]

25) “Of course you want to buy a Golden pear brand phone. Golden pear phones look good in

one’s hand and all the Bollywood stars can be seen carrying them these days™ :

Which fallacy is committed in the above argument?
(1) Red herring

(2) Fallacy of accident

(3) Appeal to foree

4) Appeal to people (Argumentum ad Populam)

“dvF B 99 Tesa I WS # B @iE = 2| G w d mesT de % R wr=s = S

Tfisidfigs med i m o gn g awa 217
e A § i R TG 27

(1) 1= = (v

@  Fe w EEE (e wiE )

(3  womE (i 7 W)

@) = T

[Question ID = 4567][Question Description = Q30_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18268]
2. 2 [Option ID = 18269]
3. 3 [Option ID = 18270]
4. 4 [Option ID = 18271]



26)

CAE stands for :

1 Calculation Arithmetic Equation (2) Calculation Aided Estimate

(3 Computer Aided Engineering (4) Critical Assessment for Energy
(1)  Fepose A9HF S99 (2) HoPpoTE UES T
(3)  =FgEw UZE sl (4) ToloFe vamz B v

[Question ID = 4568][Question Description = Q31_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18272]
2. 2 [Option ID = 18273]
3. 3 [Option ID = 18274]
4. 4 [Option ID = 18275]

27) Given below are two statements :

Statement I: Hardware represents the physical and tangible parts of the computer.

Statement I : Operating system is tailor made software according to user's requirements.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement IT 1s false

(4) Statement I is false but Statement II is true
i 21 e T T E

Fo (I):  FFged F1 75 38+ Wifa= va gd fammars = Fefig = 2|

Fo (ID) : Tt 1 319877 & S8R AR fa=y 59 99 Jea f |

YR U o AR °, 419 50 T el 3 HEl 39 %1 =99 hifAT
(1) e I e I =H o 2 |
) wua [ #AR I EA 9T 2 |
(3) =y [&d 2, vt %y I 9009 2 |
(4) w9 [5G 2, it wuF 1L oeg 2 |
[Question ID = 4569][Question Description = Q32_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18276]
2. 2 [Option ID = 18277]

3. 3 [Option ID = 18278]
4. 4 [Option ID = 18279]

28) Kritika 1s making her science project presentation on ‘Friction’ using a presentation

software. She wants to add the phrase ‘Presentation on Friction at the bottom of each page.

Which option should she use?
(1) Project (2) Bullets
(3) Header (4) Footer

‘T W SO HWiFeAA W AN HA 50 B A AU e-Teai a4 E 2 | "E A geawh

T8 % A= T W wEE T G e =wdl ¢ | 36 5 Ger w1 vEm s =t

(1) o () (2 =zm



(3)

[Question

= 4 =

ID = 4570][Question Description = Q33_GP_29NOV_S1_SHAAN]

1. 1 [Option ID = 18280]
2. 2 [Option ID = 18281]
3. 3 [Option ID = 18282]
4. 4 [Option ID = 18283]

29)

Given below are two statements :

Statement I: Data base refers to a collection of logically related data.

Statement II : The purpose of assembly language is to bring man and computer together.

In the light of the above statements. choose the correct answer from the options given below :

(1)
(2)
(3)
4)

Both Statement I and Statement IT are true
Both Statement I and Statement I are false
Statement I 1s true but Statement IT is false

Statement I is false but Statement II is true

= 2 e fr e E

F74 (I): S, alidhh B9 ¥ Trag Yo ¥ Tef-aa 2 |

Fo (ID) :  UHEE S 3279 A A HEE U w1 |

IWI HUA ® AF 4, A9 5 T G g wE 3 % 991 i

0V
2
(3)
@

[Question

Fue [ 3 IL 241 979 & |
#Fo [ IL =M1 59T 7 |

Foq [ H 7, =i %9 [ 5797 2 |

F9 1 5%d 7, i F97 [L 979 7 |

ID = 4571][Question Description = Q34_GP_29NOV_S1_SHAAN]

1. 1 [Option ID = 18284]
2. 2 [Option ID = 18285]
3. 3 [Option ID = 18286]
4. 4 [Option ID = 18287]

30)

What is the purpose of Block Chain?

(1)
(3)

To block the network (2) To block the data

To secure the data (4) To interlink the data

(1

(3)

=21 T FIE (4) =21 T TIAF F

[Question ID = 4572][Question Description = Q35_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18288]
2. 2 [Option ID = 18289]
3. 3 [Option ID = 18290]
4. 4 [Option ID = 18291]

31)

(ven helow are two etatements -



Statement I: Aquatic weeds are fast growing weeds which can attain very high
productivities when cultivated on nutrient rich waste water such as domestic

sewage.

Statement II: Water hyacinth. salvinia and duck weed are some examples of aquatic

weeds.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false

(4) Statement I is false but Statement II is true
f= @ oA g E

Fo (I): T W-T99R o= & 95 9 9E-91d & S 95d 81 Seahdl U Al & 5 36 O

T T W Y FURTE T SH o S W A w6 |

Foe (II) : a1 enfay, Afeatn 31 sHals, Fo@ @-T0an F 59 350 7 |

IR T F ATAE °, T B0 FeT § ¥ HEl 39 % 994 I
(1)  F IR [ & 7 |

@) FEIAROIA 593 # |

(3) =9 L& 2, it ®y I #6909 2 |

(4) = I 5= 7, =i wue [T a2

[Question ID = 4573][Question Description = Q36_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18292]
2. 2 [Option ID = 18293]
3. 3 [Option ID = 18294]
4. 4 [Option ID = 18295]

32)  Match List T with List T ;
List I List IT
E-Waste Components Their uses
(A) Mercury (' Printed Circuit Board
(B) Poly Chlorinated Biphenyls (PCB) (IT) Insulation
(C) Brominatede Flame Retardants (ITT) Flat Screen monitors
(D) Poly Vinyl Chloride (PVC) (IV) Capacitors and Transformers

Choose the correct answer from the options given below :

1 (A)-D. B)-II), (O)-aV). (D)-aD
2y (A)-D. (B)-II), (C)-(IID), (D)-IV)



(3)  (A-ID. (B)-(IV). (C)-(1D). (D)-(D)
4 (A)-D. (B)-(IV), (C)-D). (D)-(ID)

G-I % =9 gi-11 =1 e Fifo

=1 giI-11
(A) = (T) @) Tues afdz 718
B) Ui FANAZS WE G (W H ) Al FEATH
(C) =fEzs g fersem (A1) w2 ThA aired
(D) e fase FemTEe (A ) @IV) ifeed vz e

= 2 o fEredt 9 ° Tl 39w = fii
1) (A-D, (B)-IID), (C)-(IV), (D)-(IL)
2)  (A-D. (B)-(ID). (O)-(IL), (D)-(IV)
(3)  (A-IID. (B)-(IV), (C)-(D), (D)-(@)
4) (A)-(IID). (B)-(IV). (C)-(D). (D)-(ID)

[Question ID = 4574][Question Description = Q37_GP_29NOV_S1_SHAAN]

1. 1 [Option ID = 18296]

2. 2 [Option ID = 18297]

3. 3 [Option ID = 18298]

4. 4 [Option ID = 18299]

33)  India’s share of nuclear energy in the electricity generation 1s approximately
(1) 0.3% (2) 3%
3 10% @ 15%

o

fered 3euTeA |, AM9FE I F1 90A F o
(1) 0.3% (2) 3%
(3) 10% 4 15%

[Question ID = 4575][Question Description = Q38_GP_29NOV_S1_SHAAN]
1 [Option ID = 18300]
2 [Option ID = 18301]
3 [Option ID = 18302]
4 [Option ID = 18303]

A W N -

34)

Match List I with List IT
ListI List IT
Hazardous substance Major Source
(A) Lead (I Electrical insulation
(B) PCB (Polychlorinated biphenyls) (IT) Plastics industrial uses
(C) Benzene (III) Paint
(D) Vinyl Chloride (IV) Gasoline

Choose the correct answer from the options given below :

(1) A-D. (B)-1I), (C)-(ID), (D)-IV)
(2)  @-1). B)-Im). (©)-IV). D)-O
(3)  (A)-D. (B)-D). (C)-1ID), (D)-IV)
4 (A)-D. (B)-(D. (C)-0V). (D)-dI)

-1 2 w19 gi-11 =1 fae #ifw



(A)
(B)
(©)
D)

P

ot

7.1 g=.11

AT TR e =

S @ A geem

i . (7T Ao A eT) @D e s s
EElR ) Tz

4= 23 T el | © TE 39 9 i

@
2
(3)
(C)]

(A)-(D). (B)-(II), (C)-(III). (D)-(IV)
(A)-(II). (B)-(III). (C)-(IV), (D)D)
(A)-(IID). (B)-(D. (C)-(ID. (D)-(IV)
(A)-(IID). (B)-(D. (C)-(IV), (D)-(ID)

[Question ID = 4576][Question Description = Q39_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18304]
2. 2 [Option ID = 18305]
3. 3 [Option ID = 18306]
4. 4 [Option ID = 18307]

3%) Which of the following are true about International Solar Alliance (ISA)?
(A) Its Head Quarter is in Washington DC
(B) It is a joint initiative of France and India
(C)  Most of the particlpating countries are in southern hemisphere
(D) There are 121 signatory countries
(E)  Mostly sunshine countries are participants in this

Choose the correct answer from the options given below ;

(1
(3

(A). (B). (D) and (E) only 2)
4

(B). (D) and (E) only

(A). (B). (C) only (B). (C). (D) and (E) only

A B A (A5, TH..) & 91 | et 4 5 w6 '@ 27

(A)

B)

(©

(D)

(E)

ST i aTterTes S, 02

Tz A UF T 1 T S0 7 |

AP i ATl SATehal 991 SIeoi e 3 7 |
FEATET Hal 5 121 B |

sAferept g =i T F i 297 5EH 9PiEH # |

= f2u o e § | wE 3w = A

(1)

(3)

a4 (A). (B). (D) 31 (E) @ ¥ (B), (D) R (E)

a9 (A), (B) #i (C) (4) F= (B). (C). (D) N (E)



[Question ID = 4577][Question Description = Q40_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18308]
2. 2 [Option ID = 18309]
3. 3 [Option ID = 18310]
4. 4 [Option ID = 18311]

36 : : ; :
) Given below are two statements : One 1s labelled as Assertion (A) and the other 12 labelled as
Reason (R) :
Assertion (A) : Research in the field of sciences require more fund than that in the field of
social sciences and humanities.
Reasons (R) : Only 1n economically rich countries research in sciences of high quality 1s

possible.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 18 NOT the correct explanation of (A)
(3) (A) 1= correct but (R) 1s not correct

(4) (A) 1= not correct but (R) 1s correct

= =1 e few o 2 oA A @ v A ATaEYA (A) SR g8 F A% (R) TR T2 |

HATTF (A) Al 3 oA fame F & fi gee 9 faae F aa 1 g wg afes -
#i SR = 2 |
% (R) : el A4 =9 H GO0 S0 H 2 fa5 3 I a1 arel 9d dEE |

TS HU AR § A= 210 T fekedl § H geE 39T I o S i

(1) (A) =W (R)SH T8 2 31 (R). (A) F7 T =w= 2|
(2) (A 3 (R) I FA E A (R), (A) F wE = TEH
3 (AT 2 e R) =8 7 2 |

@ (@ @E A R) T 2

[Question ID = 4578][Question Description = Q41_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18312]
2. 2 [Option ID = 18313]
3. 3 [Option ID = 18314]
4. 4 [Option ID = 18315]

37) Given below are two statements :

Statement I: Purpose of doing research 1s to make fundamental contribution in
knowledge.

Statement II : Indian higher education institutions are making fundamental contributions
in very large area of knowledge by publishing a number of research articles.

In the light of the above statements. choose the most appropriate answer from the options
given below :

11 > T h Sog RS RS LAy Ry g B o Y RELE SERLLSIEORES P o I S UL Rl g
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Both Statement I and Statement IT are incorrect
Statement I 1s correct but Statement II 1s incorrect

Statement I is incorrect but Statement IT is correct

T FF R E

Fu ([): 99 i o 399 T § eTgd AEH HAT F

YA (ID) : a1 3= [0 52970 s5d a1 My-=@i & g1 FF % =0 A9 4 gerdd areE 2 E@ |

I FF F AT 5, A B fawew 4 ¥ e 39 I H =9 I

(1
2
(3)
4

[Question
1. 1 [Option
2. 2 [Option
3. 3 [Option
4. 4 [Option

38)

Fo 1 317 I =0 =2 2 |
=y 1 34 I1 21 7eid & |
#9181 2, A w9 117 2 |
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ID = 4579][Question Description = Q42_GP_29NOV_S1_SHAAN]
ID = 18316]
ID = 18317]
ID = 18318]
ID = 18319]

Which among the following adversely affects the inclusive character of the institutions of
higher education?

(1
(2)
(3)

(4)

To promote quality of education
To select very competent faculty

To use uniform criterion to select the institutions so that charges of partiality can be
avolded

To provide fund for doing quality research

FeAfefiaa 5 o %4 3= T gee =) gaEel Eeae = Auia =1 9 garaa ww" 2 7

(1
(2)
(3)
4

o i MBS = UTeETET
5T HeTH T TR 9
TRl # =9 § UF GUE HEE F T IS AR o 9fiET 7 O |

TOEETYN WY o T et suesa we |

[Question ID = 4580][Question Description = Q43_GP_29NOV_S1_SHAAN]

1. 1 [Option ID = 18320]

2. 2 [Option ID = 18321]

3. 3 [Option ID = 18322]

4. 4 [Option ID = 18323]

39) ‘ : . :
Which among the following factors promote the quality of education?
(A) Organizing conferences, symposia
(B) Encouraging collaboration of research with the leading universities of the World
(C) By privatising the universities
(D) By creating a system of strong punishment for these faculty who do not do research
(E) Providing e-resources to the faculty and students

Choose the correct answer from the options given below :

(1

(A). (B). (E) only 2) (A). (B). (C) only



(3)  (B).(C). (E) only (4) (C). (D). (E) only
FefefEd ¥ #H H FRF o § UE F A R 8
(A) T, AREEtE F AT T
(B) Tava F smnit fEvatamemt & @y wg F TEEe F= waeE o

i~

(C) TavalammemE & FdEm % aeag o

(D) i 7Y TE] Fd 3 TFE-T5] F [0 F30 598 F a5 F =941 F g

(E) TFME-9oe UF =il % 90 s-59ares 30 H0E

19 fou U faweT 5 |/ =wE 3 R 99 A

(1)  #== (A). (B). (E) (2)  =a= (A). (B). (C)
(3)  Fa= (B). (C). (E) (4) Fa= (C). (D). (E)

[Question ID = 4581][Question Description = Q44_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18324]
2. 2 [Option ID = 18325]
3. 3 [Option ID = 18326]
4. 4 [Option ID = 18327]

Mt Match List I with List IT :
ListI List IT
Organisations Disciplinary Domain
(A) ICSSE (I) Philosophy
(B) DST (IT) Social Sciences
(C) ICMR (ITT) Sciences
(D) ICPR (IV) Medicine

Choose the correct answer from the options given below :

1 (A-@V). (B)-1D). (C)-(D). (D)-(ID)
2 (@-D. B)-1V). (C)-(I1ID). (D)-(ID)
(3)  (A)-ID. (B)-(D. (C)-(ID). (D)-IV)
@ A)-dD. B)-a). (C)-IV), (D)-@D

-1 % Ty gi-11 =1 foem Hifw

1 I
(A) 7= oH T @O = =
(B) Fwa AD) BETEF- T
(C) =me.Htum.am. (1) o

(D) = am. @V) =mIae

-



M 59 0 T9edt 5 § Tal 307 9 =999 I

1)y (A-IV). B)-II). (O)-@). (D)-(ID
2 (A-D. (B)-(IV). (C)-(I1II), (D)-(ID)
(3  (A-ID. (B)-(D). (C)-(ID), (D)-IV)
4 (A-D. (B)-ID), (C)-(IV), D)-@

[Question ID = 4582][Question Description = Q45_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18328]
2. 2 [Option ID = 18329]
3. 3 [Option ID = 18330]
4. 4 [Option ID = 18331]

Topic:- GP13_C

1)

Read the following passage carefully and answer questions

Let us look at what vou can do to eliminate a destructive habit. whether it is obesity,
habitually being late, profanity, smoking, having a short temper or alcoholism. The first and
foremost thing you must do is to decide that you want to eliminate the habit. That is a
decision you and only you can make. Without this motivation on your part. no person or
procedure will have any significant impact. If someone else “talks you into it” the chances are
strong you will perhaps start but the effort will be short lived. Remember, you generally
don't reach someone else’s goal. Many times you end up further behind than you would have
been had vou not attempted to quit a habit which you were not ready to give up. For
example, welght lost and regained. So first and most importantly. decide you no longer are
going to be a slave to any destructive habit. Decide you want to have control of your life, that
you want to be free, that you want to do things with your life instead of having things done to
yvour life. It is tougher, much tougher to quit a bad habit. but fortunately the results are fun
and much more rewarding. Former smokers. alcoholics and fat-folks unanimously — and in
glowing terms — give us exhaustive details concerning the joy and excitement of shedding
those pounds. giving up the need, and getting of the bottle. The ex-smoker talks about the
exciting taste of the food-the clean smell of the air, clothes, furniture, among others. The talk
about the new found self-respect and satisfaction from whipping a habit that would have
taken from two to ten years of their lives, and a lot of iving out of their lives.
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The elimination of destructive habits depends upon :

(1) External persuasion (2) Social accpetance

(3) Impersonal reasons (4) Self-resolve



TormorrTl sTadt 1 IgeE A a2

(1) =T A ™ (2) FEITTF SHEET W
(3)  wrEAfFaF FAO W (4) T TH W

[Question ID = 4583][Question Description = Q46_GP_29NOV_S1_SHAAN]
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2)

1 [Option ID = 18332]
2 [Option ID = 18333]
3 [Option ID = 18334]
4 [Option ID = 18335]

Read the following passage carefully and answer questions

Let us look at what you can do to eliminate a destructive habit. whether it is obesity,
habitually being late. profanity. smoking, having a short temper or alecholism. The first and
foremost thing you must do 1s to decide that you want to eliminate the habit. That is a
decision you and only you can make. Without this motivation on your part. no person or
procedure will have any significant impact. If someone else “talks vou into it” the chances are
strong yvou will perhaps start but the effort will be short lived. Remember. vou generally
don't reach someone else’s goal. Many times you end up further behind than you would have
been had wvou not attempted to quit a habit which you were not ready to give up. For
example. weight lost and regained. So first and most importantly. decide you no longer are
going to be a slave to any destructive habit. Decide you want to have control of your life, that
vou want to be free, that you want to do things with yvour life instead of having things done to
vour life. It 1s tougher, much tougher to quit a bad habit, but fortunately the results are fun
and much more rewarding. Former smokers, alcoholics and fat-folks unanimously — and in
glowing terms — give us exhaustive details concerning the joy and excitement of shedding
those pounds. giving up the need, and getting of the bottle. The ex-smoker talks about the
exciting taste of the food-the clean smell of the air. clothes, furniture. among others. The talk
about the new found self-respect and satisfaction from whipping a habit that would have
taken from two to ten vears of their lives. and a lot of living out of their lives.
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=fgd ‘gEd oW H MWW%,1ﬁWWﬁWW%ﬁm'WWWWﬁﬁ
AT AR H F 91 T5 TAE &0 20 | T TR 6 A A9 TRl 59 satad & oed o T8
TEEd 2 | ¥R 9N, #mﬁmﬁmﬁmmqﬁmmmmﬁﬁﬁnwmmTW'ﬂw
AW E 9 A1 sEa 9w #9062 | SOE W Al 9, 9 w9 A A TR | a9 wgn e | seiee ud
naﬂmﬂaﬁwmwaﬁnﬁmﬁmﬁhmﬁmwwmﬂFﬁTmnﬁ
w1 | et Sfiften & wmg s Sfie v e wEd 2, 98 % AW g9 v A 2, 48 T e s e
%mqéﬁ%ﬁvﬂﬂm%wmvmﬁiﬁﬂﬁﬂmmmﬁ%ﬁrﬁlﬁ'ﬂrﬁﬁrm
AR Fiad 2| TH dtumEEm, ek AN gEnyes HAt Sgd A wemel 2 94§ gEaE
FA, TOE TH A 37 AEEET A 0 S8 A F o a9 2 3T d §gd SoaTlEd W= 0 Fed B -

SHIE TTH, AETIRA H G T F 317 T i Sae $ard Ti o o wHaE] g s s F
SR % fomangE gaEe | FadEE guuE e e 3 9§ 'g-my 9 % SHeE w@E, a

e, i, EHE 6 91 H 9d i F

3 T UHT m R IH F FerEEd U ATHEEE A Ha 6 96§ @G 0 7 (99E w00 39
StaFe | o1 H 5@ T 9% F 5ET FH F A AR S G 8 95d S st A 5 T

The impact of someone else motivating a person to move away from a bad habit is :
(1) Everlasting (2) None

(3) Transient (4) Significant
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[Question ID = 4584][Question Description = Q47_GP_29NOV_S1_SHAAN]
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3)

1 [Option ID = 18336]
2 [Option ID = 18337]
3 [Option ID = 18338]
4 [Option ID = 18339]

Read the following passage carefully and answer questions

Let us look at what vou can do to eliminate a destructive habit. whether it is obesity,
habitually being late. profanity. smoking, having a short temper or alecholism. The first and
foremost thing you must do is to decide that you want to eliminate the habit. That 1s a
decision you and only you can make. Without this motivation on your part. no person or
procedure will have any significant impact. If someone else “talks yvou into it” the chances are
strong yvou will perhaps start but the effort will be short lived. Remember, vou generally
don't reach someone else’s goal. Many times you end up further behind than you would have
been had vou not attempted to quit a habit which you were not ready to give up. For
example. weight lost and regained. So first and most importantly. decide you no longer are
going to be a slave to any destructive habit. Decide you want to have control of your life, that
you want to be free, that you want to do things with yvour life instead of having things done to
vour life. It i1s tougher, much tougher to quit a bad habit, but fortunately the results are fun
and much more rewarding. Former smokers, alcoholics and fat-folks unanimously — and in
glowing terms — give us exhaustive details concerning the joy and excitement of shedding
those pounds. giving up the need. and getting of the bottle. The ex-smoker talks about the
exciting taste of the food-the clean smell of the air, clothes, furniture, among others. The talk
about the new found self-respect and satisfaction from whipping a habit that would have
taken from two to ten vears of their lives. and a lot of living out of their lives.
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A person who decides to leave a bad habit is (a) :
(1) Successful person (2) Susceptible to pressure form others
(3 Role model for others (4) In control of his own life
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[Question ID = 4585][Question Description = Q48_GP_29NOV_S1_SHAAN]
1. 1 [Option ID = 18340]
2. 2 [Option ID = 18341]
3. 3 [Option ID = 18342]
4. 4 [Option ID = 18343]

4)

Read the following passage carefully and answer questions

Let us look at what vou can do to eliminate a destructive habit. whether it is obesity,
habitually being late, profanity. smoking, having a short temper or aleoholism. The first and
foremost thing you must do is to decide that you want to eliminate the habit. That is a
decision you and only you can make. Without this motivation on your part. no person or
procedure will have any significant impact. If someone else “talks you into 1t” the chances are
strong you will perhaps start but the effort will be short lived. Remember. you generally
don't reach someone else’s goal. Many times you end up further behind than you would have
been had you not attempted to quit a habit which you were not ready to give up. For
example, weight lost and regained. So first and most importantly. decide you no longer are
going to be a slave to any destructive habit. Decide you want to have control of your life, that
vou want to be free, that vou want to do things with vour life instead of having things done to
your life. It is tougher, much tougher to quit a bad habit. but fortunately the results are fun
and much more rewarding. Former smokers, alcoholice and fat-folks unamimously — and in
glowing terms — give us exhaustive details concerning the joy and excitement of shedding
those pounds. giving up the need. and getting of the bottle. The ex-smoker talks about the
exciting taste of the food-the clean smell of the air, clothes, furniture, among others. The talk
about the new found self-respect and satisfaction from whipping a habit that would have
taken from two to ten vears of their lives, and a lot of living out of their lives.
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Fending off bad habits will earn a person :
(A) Self-respect

(B) Better friends in the society

(C) Satisfaction in life

D) New opportunities

Choose the correct option :
(1) (A) and (C) only (2) (B)and (C) only
(3  (C) and (D) only (4) (A) and (D) only
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[Question ID = 4586][Question Description = Q49_GP_29NOV_S1_SHAAN]
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5)

1 [Option ID = 18344]
2 [Option ID = 18345]
3 [Option ID = 18346]
4 [Option ID = 18347]

Read the following passage carefully and answer questions

Let us look at what vou can do to eliminate a destructive habit, whether it 1s obesity,
habitually being late, profanity. smoking, having a short temper or aleoholism. The first and
foremost thing you must do is to decide that yvou want to eliminate the habit. That is a
decision you and only you can make. Without this motivation on your part. no person or
procedure will have any significant impact. If someone else “talks vou into it” the chances are
strong you will perhaps start but the effort will be short lived. Remember, you generally
don't reach someone else’s goal. Many times vou end up further behind than you would have
been had you not attempted to quit a habit which you were not ready to give up. For
example, welght lost and regained. So first and most importantly. decide you no longer are
going to be a slave to any destructive habit. Decide you want to have control of your life, that
vou want to be free, that you want to do things with yvour life instead of having things done to
vour life. It is tougher, much tougher to quit a bad habit, but fortunately the results are fun
and much more rewarding. Former smokers. alcoholics and fat-folks unanimously — and in
glowing terms — give us exhaustive details concerning the joy and excitement of shedding
those pounds, giving up the need, and getting of the bottle. The ex-smoker talks about the
exciting taste of the food-the clean smell of the air. clothes, furniture, among others. The talk
about the new found self-respect and satisfaction from whipping a habit that would have
taken from two to ten years of their lives, and a lot of living out of their lives.
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The passage is about :

(1) Unacceptability of destructive habits
(2 Benefits of giving up destructive habits
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(4) Prevalence of bad habits in the society
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